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SYLLABUS

LAB TECHNICIAN SYLLABUS

Reasoning Ability

* Puzzles & Seating arrangement, Data
sufficiency, Statement based questions
(Verbal. reasoning), Inequality, Blood
relations, Sequences and Series, Direction

Test, Assertion Venn

Diagrames.

and Reason,

General Awareness

* General knowledge and Current affairs
with special emphasis in the field of
education.

General Hindi
o G, Uy, faom s, qatgamt
SR, M STfEdl, e & fau
TF IR, HEA- Aiteal, oTufed
TS W 3ERd 99|

o N

General English

* Verb, Subject-Verb
Agreement, Articles, Comprehension, Fill

Tenses, Voice,
in the Blanks, Adverb, Error Correction,

Sentence Rearrangement, Unseen

Passages, Vocabulary, Antonyms/

Synonyms, Grammar, Idioms & Phrases
Subject Specific Knowledge

of lab
equipment, Knowledge of experiments of
chemicals, of lab,
chemicals and

of  different
labs,
Techniques and Physics, Chemistry, Life

¢ Knowledge lab work and
Safety protocols
of

knowledge

scientific name
equipment,
methods commonly used in

Sciences (Biology) etc.

LAB ATTENDANT : Exam
(Objective Type) : 120 marks

Test Component of the Test Number of | Total | Duration of the
questions | marks test
Part-I Reasoning Ability 15 15
Part-1I General Awareness 15 15 The test will be
Part-IIl | Language Competency Test 30 30 q szl/z hO,u;S
(General English and General Hindi- urathn WIF qut
i any time limit
15 marks each subject) for each part of
Part-IV | Subject specific knowledge 60 60 test individually
Total 120 120
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AT igd T Y91-U
Exam Date: 09/032022 Time-4:30PM-7:00PM
1. R gR-uyg feu o € = @ i foredt T (a) N16M3J10 (b) 25Z1AC2
T:l‘ﬂﬁ'ql Ans. (¢) : IRAER,
[SEREE

Four letter-clusters have been given, out of
which three are alike in some manner and one || X=24, A=1,1=9

is different. Select the one that is different. I R, fomed (o) @
(a) XBGM (b) EINT B=2,J=10,E=5
(c) AEJP (d) TXCH F: e (c) T 2
Ans. (d) : TR 4. =i
ﬁm’ @— v@v &7 3;'-9‘1: [ %
(a) X | B G M (b) E 1 N [ '“/o'a'?f?ﬁ?f'+'%
+4 +5 +6 +4 +5 +6 '&'35[3T9j'+'%,3ﬁ'{'
YA E J P (T X C H(zEH "> it 37ef !
(c) L4 ¢ I | ( ) S
+4 +5 -G +4 45 g If
37: farehed (d) 19T 2| '@' means '-',
2. Tou T foenedl ® W 39 Me-HHE A oG &, "%’ means '+,
. . '&' means '+', and
T frafafaa S@er ® wva fog (2) & e

'>' means 'x',

T 3T HhT ¢ then what would be the value of X in the
Select the letter-cluster from among the given following equation?
options that can replace the question mark (?) ar freferfaa wieRtor § X T 919 AT EQlEL
in the following series. 336%8@16 @ (12@6>3) & 22>3=X
ZTVJIM, UXSLL, ? , KFMPJ, FJJRI, ANGTH (2) 89 (b) 102
(a) PBQNK (b) QBPNK
(c) PAPNK (d) PBPNK () 98 (d 79
Ans. (d) : T¥AER, Ans. (d) : TRATER-
735 USs[plSs k35 F <35 A X=336%8@16 @ (12@6>3)&22>3
T4y x5l plidy pidy  tdy X=336+8-16—-(12-6x3)+22x3
v=3ss 3slpl—oM—3>1 =56 X=42 —16+6+66
] 3L BN p RS T X =98
M—>L—{K[—>1 51 : faheq (c) W 2|
ofa: fashed (d) w&t 2 5. Which of the combinations of interchanges
3. forereat o <t 11-.59 TS TeReh gi-wa:ﬁ' 79 3T given in the options will make the following

equation correct?
_3_ 38-9x6+12+4=35
HHET | 0 freew @ wEw @t R R T

From among the alphanumeric strings given in TRICTOT % HEe gRT foaT T aete e
the options, select the one that is similar to the a 9

given string. SUE
X24A119 38-9%x6+12+4=35

SJEE T I L, W A T §Een &




(a) +and><;6and4/+3ﬁ'(x;6 34
(b) +and +; 4 and 9/+ 3+ ; 4 39
(©) +andx;9and6/+3ﬁIX ;9 3N 6
(d) +and—; 6 and 4/+ 3 -; 6 34
Ans. (a) : TRAMER,
38—9x6+12+4=35
e 1w B % R,
T (d) 9,
38+9x4+12-6
=38+36+12-6
=35
37a: foehed (a) & 21
6. In a code language, 'RIVER' is written as
‘FKUVA’ and ‘LAKE’ is written as ‘BGNP’.
How will '"WATER' be written in that
language?
fereft Te wTeT ®, 'RIVER' @& ‘FKUVA’ foman
ST € 3R LAKE' @t ‘BGNP’ fer@n wimar 21
3t THe 9T § 'WATER' &t fofE yar foran

STET?
(a) BGUXF (b) AGUXB
(c) BGUXA (d) BGUXB
Ans. (d) : I¥AER,
59 9
RIVER - FKUVA @a LAKE - BGNP
E - FE+]D A - B+
I - K(I+2) E - G(E+2)
R - UR+3) K - N(K+3)
R - V(R+4) L - P(@L+4)
V - A(V+5)
3G IHR,
WATER —
A — BA+]
E - G(E+2)
R - UR+3)
T - X(T+4)
W — B(W+5)
37e: farehed (d) G 2
Note:@wﬁﬁaﬁw%ﬂ%ﬁﬁmm
AT A @ T 2| R 3H e 1,2, 3 ... el
T B
7. If

‘M + N’ means ‘M is the sister of N’,

‘M — N’ means ‘M is the brother of N°, and

‘M x N’ means ‘M is the daughter of N’,

then how is S related to P in the following
expression?

Ife
'M+N' T 279 §- 'M, N i 98 &’
'M-N' @ 27¢f §- "M, N T o 8’ 3iR
'MxN' 1 37ef §- 'M, N =t g5t &
a fAfeia =isie & AR S &1 P | &=
weier g7
P+Q-RxS+T
(a) Sister/s@d
(b) Mother/#t
(©) Cousin/ﬁ/qﬁ/ﬁ/lﬁ@i-ﬂﬁ/m
(d) Grandmother/ &/A

Ans. (¢) : IRAMER,

faar T &Hed- P+ Q-R xS+ T

Wil 1 o1+ —> T

S,P # A &
ara: fohed (o) @t 21

8. What approximate value will replace the
question mark (?) in the following equation?

frrafefaa wfremor # yoa fog (?7) & ==
T TRTSTT Teha=T |1 31eeT?

65.321 — (1.98 + 1.99) x 16 — 2.97 x 12 — 11 +
(10.003/9.890) = ?

(a) 3 () 6
(c) 4 (d) 5
ns. (a) : IRAFER,

65.321 — (1.98 + 1.99) x 16 — 297 x 12 — 11 +
(10.003/9.890) = ?
=65.321-15919-35.64 - 10.875

=2.887 =3
37: e (a) TR B
9. Find the value of X in the following series.
frrafafaa goft & X &1 a9 Jra s
8, 10, 8, 16, 16, 22, X, 28, 192, 34, 960, 40, 5760,
46
(a) 46 (b) 34
(c) 28 (d) 48




Ans. (d) : I¥ER,
+6 +6 +6 +6 + 6 + 0
[ Il Il If i Il I

tla‘. 10, ‘Isl 16, ]iﬁ. 23, 4|8. 28, IL|)|2.34. l)I(Ia['}. 40.5|7‘()U. 46

< 1 %2 <3
gl § X & WA 48 21
ara: fqeed (d) @@ 21
10.

<4 x5 %6

In the code language, ‘I like morning walk' is
coded as ‘ne ak je hr’, 'I am good' is coded as
‘ne be jd’, 'good morning' is coded as ‘jd je’
and ‘good walk’ is coded as ‘hr jd’. How will
‘cood morning walk’® be coded in that
language? .

et h< HTET H, ‘I like morning walk' T ‘ne
ak je hr’ for@m Smar %, 'l am good' I ‘ne be
ja’ T Sar T @ 'good morning' ) ‘id je’
forar S §, 217 ‘good walk’ T ‘hr jd’ Tor@m
SraT & St <h< HIOT H 'good morning walk' &Y

fra e forar smaem?

(a) jdje ak (b) be jd hr

(c) ne je hr (d) jdjehr
Ans. (d) : IR,

| Like walk — ne ak hr
| am —>ne be

SEE

~®
good morning walk —)@
37e: farehed (d) @ 2
11.

The following sentence has a word (in capital
letters) in which the letters are jumbled up.

frrafafaa ae & s v (F2 3l W)
foam o &, Seh 7l & A & Soe-Ueie
e e &1

Select the correct word from the options.

few o foremeat ® | et ITsg BT TEA ST
The SIEHDS sound is coming from the pipe
leaking the water.

SIEHDS &t eaf urt ofies & ot urey |

3T &I % :

(a) HISSED (b) HIDESS

(c) DISHES (d) SHEIDS
Ans. (a) : IRAFER,

f&&n =1 aeR- The SIEHDS sound is coming from the
pipe leaking the water.

seaftad W 'SIEHDS' §1

qFE h FIER FeERYd Rl & U W@ u=
'HISSED' B

A e fahed (a) 21

Read the given information -carefully and
answer the following questions.

Six friends, A, B, C, D, E and F, are standing
one after the other on a straight vertical line.
All are facing towards north. A is standing at
an odd position from the north. Two people are
standing between D and F. D is standing at an
even position from the north. Four people are
standing between D and B. C is not standing
behind F. E is not standing immediately after
or immediately before B. F is standing ahead of
D

&t T8 TSR A e | ufen iR fafafaa

Tl o ST SR

Bg il A,B,C,D,E 3R F Ue Hitft s o wsh
% 8 T Wk @3 ¢ 9f @ gE s A
AN T A SR foom =t 3w 4 fereft feromr v
W @ 81 D 3R F & &= ot =afvs @ 31 D
IR foom &t 3R | fordlt ww = W @S 81 D
3R B & WA =R Atk @2 §1C, F & Ws &
el 21 E, B & dis di9 o ek 3mt & @er
21F, D & 3 @ 2

12.  Who among the following are standing in the
middle?
frafafaa ® @ s aea o @ 82
(a) E and F/E 3R F
(b) F and C/F 3R C
(c) E and A/E 3 A
(d) A and C/A 3R C
Ans. (a) : TRAMER,
T
h M
| 4—B~+6
B st-iet-s
:,Em 3 —F+4
i Ly ‘1 -1 T
4 —f—El 3 TR
g
§ 1812 o
6 —+— D |
W
GiE)
I Y Wy 2 fH, A § Faar E 2
a1a: fohed (a) & B




13. Who among the following is standing at an

even position from the south?

frafafaa & & &= giaw foen & fedt o
T T ST &2
(a) D

(c) E

Ans. (d) : IR,
fadr T faepedt @,

R G IR H TWE I WE 9 & [ G B
3: ferehed (d) @@t 21

Read the given information carefully and
answer the following questions. Amar, Basant,
Chetan, Dhanesh and Ehsaan live in separate
houses, which are located in a big compound.
Basant’s house is located at 40 m to the right of
Dhanesh’s house. Amar’s house is located at 60
m to the south of Basant’s house. Chetan’s
house is located at a distance of 25 m to the
west of Dhanesh’s house. Ehsaan’s house is
located at a distance of 90 m to the north of
Amar’s house.

& TE STl B e @ ufge iR frafaiaa
Tyl o ST i)

A, TG, TaT, AT T TEE AeAT- T
o H T, W T o uREw # Ree € s
T WX, UATT o T h q1F A 40 m & TH W
Teera &1 3T T oW, SEA o X ok AU H 60
m T W U o 1 B9 1 O, 9A9 & Wk
fym ¥ 25 m St T W Red {1 wgEE @ W
31T & TR o ST W 90 m AT it WX feora &1

What is the shortest distance between Dhanesh
and Ehsaan’s houses?

gAY R TEEH & T & sfter W =FAaw g
ferat €2

(b) C
d) F

14.

(@) 70 m (b) 50 m
(c) 45m (d) 25 m
Ans. (b) : ST,
30m
20 g 30M e [00m  oftem 7
60 m‘
I afggor
¥ Td TgHH & W & de =Aam gf
= \J(40)? + (50)°
= /2500
=50m
37e: e (b) T B

15. Whose house is located towards the north-west

of the house that is located in the extreme south
direction?

A0 O ferdent oX gfaror foon o e sifow o
o STR-uflyw fowm # feor 82
(a) Amar/3THY (b) Basant/sd
(c) Chetan/=d= (d) Ehsaan/TgEH
Ans. (¢) : 394 o & wE ¢ % 2R fRem 3R & W
& Sue-ufem R & == 1 W 2|
16.

The ‘Westchester Cup’ belongs to which sport?
ol %Y’ e | O few @ § gatid §?
(a) Tennis/2fF @ (b) Hockey/gTat

(c) Snooker/&H (d) Polo/dret

Ans. (d) : ‘TRIRI U IFF § § Tl @ 9 Haifem
21 I8 %9 Y5l IR 1886 H Tell T AT

17.

Union Budget 2021-22 pegged fiscal deficit for
2020-21 at of GDP in the revised
Budget estimates

HET e 2021-22 H, NI SI<E WTarketAt

& ITIEW 2020-21 % T TSIST =eT GDP

Ea) TE T T B

(a) 9.5 percent/9.5 FfcTerd

(b) 10.5 percent/10.5 Sfrerd

(c) 6.5 percent/6.5 Ffcrerd

(d) 7.5 percent/7.5 SfereTd
Ans. () : 5T T 2021-22 § GINRIA a9 Jrerehetat
& STER 2020-21 & foIT TSI =T GDP & 9.5%
21 S 3iqRA asie 2024-25 § TSTHET ST GDP %
5.1% SFAI 21

18. When did Queen Victoria's
declare that India would be governed by and in

Proclamation

the name of the British Monarch through a
Secretary of State?

TR foraeiRen 3 el 3T i foh 9Ra
forfer wute 3T 3R ek W W T T
|fera o aread | yfad gem?

(a) 1 November 1958/1 &sR 1858

(b) 27 October 1858/27 3faaX 1858

(c) 16 September 1860/16 f&dsx 1860

(d) 12 August 1858/12 3TT& 1858




Ans. (a) : TN fERIRAT 3 1 TEsR 1858 i SEETOT
# % 9Ra BRY 9O FN SR % AW W UF TH
gfya & weAm § e gl 1857 % faER %
qRuTEEY 3w W R EfeAr Su sifuder fafewr s
F gEAARA & T, URUMERY 9RG TR e
1858 TR feham T |
19. The fourth general assembly of the
International Solar Alliance (ISA) was held
virtually between 18 October and 21 October
2021. It was presided by Union Minister
, Minister Power, New and
Renewable Energy, Government of India and
the President of the ISA Assembly.
FATT WX WeTeE (ISA) ot =ireft 2 @
W TN AN 18 TSN | 21 e
2021 o e gam el remerar e faE,
Tt we FeteRtufiar St Wt v (ISA) /T &6
eI J &
(a) Narayan Tatu Rane/-TXa0T dTq ot
(b) Ashwini Vaishnaw/31&t R
(¢) RK Singh/3R & &g
(d) Prahlad Joshi/Sgme Sieft
Ans. (c) : JAUTT TR TSEE (ISA) & =ielt 3@ g
F IETA SMAGH 18 IR § 21 R 2021 &
dT gaml THH e AR, . fHR FW # W)
JAUEE W) TEsEE (ISA) &1 TG 9Rd g uRE #
2015 & SoE URedd §EeH & IR @ T oA
T AT e (FRamm) # 7

20. As on December 2021, individuals whose
annual taxable income is between 50 lakhs and
1 crore, have to pay surcharge on
income tax.

femm@ 2021 T YT TH&R & AR 5=
Rl St e T JRA A 50 ARG 3T 1

for

g & e, SR SEE
w AN AT ZAm

(a) 10% (b) 5%

(c) 20% (d) 30%

Ans. (a) : fRHR 2021 & @@ IHSR & FER, 54
sl i aifiieh s AT 3T T50 A W 1 HUS &
e 2, 3% AR W 10% AR <1 8T

21. Which state of India has the lowest sex ratio,
i.e., number of females per 1000 males?

form adar T § fermguTe sterfe wfer 1000
TESI TR WEETST i AT T &HW §7

(a) Jharkhand/3@E  (b) Haryana/gRaTom
(c) Rajasthan/TSEIM  (d) Punjab/dSTa
Ans. (b) : SFUMT 2011 % STUR, WRdE A H
BT &1 fAa S7eiq ¥ 1000 TEN W wigensi
Yo G99 $W 21 9Rd 1 feuM 943 dun frg
femaaE (0-6 @) 918 2?1 Tk G oM@ A
T
1. &A@ (1084), 2. AUAG (996), 3. =Y ¥
(993) 81
22.

Which is the largest state of India in terms of
area?

AReT % wed § 9N 1 Haw Tl T &=

arg?

(a) West Bengal/af&® amret

(b) Rajasthan/TSTEITH

(c) Gujarat/Ts0d

(d) Tamil Naduw/dfHerTg
Ans.(b):éﬁiw%ﬁﬁﬁ%wwa@m
T 81 9Rd H F 28 TST a47 8 % WG Y=
2| ol DIl TS (9% o gf¥ §) ar 2|
23.

The world’s largest national flag, made of

Khadi fabric, was put to display to celebrate

Army Day’s on 15 January. It was displayed at
, along the India — Pakistan Border

15 el sl 871 fqad & 3w W @E &
HUS ¥ o9 g F e a3 T aw v

ARA-UTREA €T U8 W TheWrET &
qTl
(a) Munabao/qeTe (b) Wagah/aren

(©) Longewala/?ﬁﬁaﬂc—'ﬂ (d) Fazilka/ wIfSTesht

Ans. (¢) : 15 Sl HI I G99 F @AW W T &
FIS ¥ a9 g & HOE 98 TEH S I ARA-UIhw

T R ATaTe (SHeH) § welE T4

24. Who among the following Kuchipudi dance
exponent founded the Kuchipudi Art Academy
in Chennai?/f= ¥ & Hfoqdt 70 & fohm

fommm wferaa 4 <=8 ® Hfagdl wen
STRIGHT T TATIAT &t ?

(a) Vijaya Prasad/ fos/@ s9€

(b) Vempati Chinna Satyam/ Swfq fem gew

(c) Swapna Sundari/ ¥ gzﬂ

(d) Kalpalathika/&eaeifceht




Ans. (b) : 3F # ¥ P J@ & o wiedeq
arfy fo wem 3 9= # RSt war-sreedt @
IO 1 PR T el e g v 7, R
Ieafe RA o ofg Few TS H g8 o

25. Pandit Tulsidas Borkar is a noted exponent of
which of the following musical instruments?/

ufga gerdiea de, T o & form amar o=
o fereama amee §7
(a) Trumpet/qer (b) Mandolin/Feife
(¢) Harmonium/gRAIT=H(d)Sitar/ R
Ans. (c) : 3T # ¥ dfsd qoE™ aNE, SREfEe
g A & foed aes 91 3% a¥ 2016 § HE WHER
g gt § g R e an 29 fadeR 2018 &
T g § fAem &
26. As per the Food and Agriculture Organization

of the United Nations, what is India’s rank in
the world in the production of wheat?/ﬁ'{ﬁﬁ s

& W Td HY W6 & TR, N e o

A T farsyy ® i |1 T 872

(a) Third/deT (b) Fourth/=ite

(c¢) First/9gell (d) Second/qHU
Ans. (d) : I3 TF & @I U@ PN G & R,
FAAE g Seaed # 9Rd o fava § qE0 e 21 |
Icqre # 9 < = 2

Read the following passage and based on the
understanding derived from it, answer the
following questions.

“The
unnecessary appendage to the Constitution.

Directive Principles are not an
The Constitution itself declares that they are
fundamental to the governance of the country.
According to LM Singhvi, an eminent jurist
and diplomat, ‘the Directives are the life giving
provisions of the Constitution. They constitute
the stuff of the Constitution and its philosophy
of social justice’. MC Chagla, former Chief
Justice of India, is of the opinion that, ‘if all
these principles are fully carried out, our
country would indeed be a heaven on earth.
India would then be not only democracy in the
political sense, but also a welfare state looking
after the welfare of its citizens’. Dr. BR
Ambedkar had pointed out that the Directives

have great value because they lay down that the

27.

goal of Indian polity is ‘economic democracy’
as distinguished from ‘political democracy’.
Granville Austin opined that the Directive
Principles are ‘aimed at furthering the goals of
the social revolution or to foster this revolution
by establishing the conditions necessary for its
achievement’.”

frafafga T =@ ufg iR SEd ww
THeRHl & MR W, frAfaiad yoa & 3w
sy

“Hifr freve fogm andia dfaae &
VIR IUM A& 1 wieuw @ s
AT § R a9 &% e & forg diferes #)
WA afag AR Tty teuw fiuet &
IR, ‘A fagia @ & o | a@
g’ ¥ ¥ dfgum @t fww-awg eiw
AT I & Ue SHeh 919 T T8 e 2
A o U8 gEd ~ararefivr THHt SrTe & '
g o, ‘afg 3 woft fogiar &t ot g | @
foram T @1’ A AW QT A H gl W
T N q9 WRA Aeifaes Tef | T A
RS BT, Sfceh 30 ATTREAT o HeATIT &l
TEHTA HIA aTAT Teh hedTUTeRRT T oft gem
T SIS gt 3 saran of feh 3= fagia wr
Ed e § it o waw § fR wwdr
TSI T e Uoiieer Tilehdsl’ | TS
‘e R’ €1 UTAfer AfeT &1 U e
for fifer Treeres fagiat =1 SEvar wmTieR shifea
% el Rl AT SGHT AT THeh SUTSLT & g
AMEYTE Il hl TAMUT ik T il bl
agran ST 81

Which Article of the Indian Constitution
provides the state to take steps to separate the

judiciary from the executive in the public

services of the state?/\RE | T i< AT
=BT TS ol Tileh Wil # ~IraraTietent Y
HTHUTIASRT W AT i o AT W 33 &1
TN ST 7

(a) Article 45/3T3% 45

(b) Article 55/3T=8% 55

(c) Atticle 66/3TT5% 66
(d) Article 50/3:I§t€33 50
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Ans. (d) : 9 HfgEE # SRR 50 TH FH AE-
garelt # Faufernl Sl HETAHR T AT FA & fau
FEH I3 FH TG HLAT 2|

28. Article 40 of the Constitution of India deals
with:/ T Gl &1 31geRT 40 o
Heifera 2

(a) power of the Parliament to modify the
Fundamental Rights in their application to

forces, etc/ Icl & AT 3% HMAT & Fay H
it SAFRT B HIIRE S # TEE H
Ifeh

(b) Organization of village panchayats/3T =Tl
& T

(c) remedies for enforcement of Fundamental

Rights/ Tifers ferebrl & Yadd &% U

(d) promotion of educational and economic
interests of Scheduled Castes, Scheduled
Tribes and other weaker sections/3Tgfed
% viferh 3R i fadi 1 sreran &
Ans. (b) : TR HfEEE # R 40 TW TR &
HiIeH § Geiftrd 21
29. The Legal Services Authorities Act (1987)
which has established a nation-wide network to
provide free and competent legal aid to the
poor and to organise Lok Adalat for promoting

equal justice can be traced back to which of the
following Articles of Indian Constitution?/

I HaT ireRuT St (1987), T whet
w FryIew iR e T WeErEer e e 3R
WA Tl ST o & foTU olie reierd &1
A A g T Mg Headh wfua &
T, W aRdE  wfgum & Frafaiaa @ e
DT H WIS 1 el §2

(a) Article 39A/3TT5T 39A
(b) Article 43B/3TI%T 43B

(c) Article 43A/3TTT 43A

(d) Article 84A/37=3T 48A
Ans. (a) : S FaT TR (1987) Ea e @
f:3[e SR Te FH TR YeH HH SR TEE e
FI FET I o [T A ST FI FASH FH 8 Th
qperdt Gead wifyd R 2, S urdg d@faem #
TR 39A H TIST ST Febel 2|

30. Which of the following Article of the Indian

constitution directs the State to promote
international peace and security?/‘ﬁl'l'{?ﬁ'q

Hfaea &1 o § ¥ i 9 igeeE TN @i
sierige viifer 3w geem &t sgrar < @
U ¥4

(a) Article 42/3T53% 42

(b) Article 51/37J=5% 51

(c) Atticle 48A/3TTTT 48A
(d) Article 49/37T=37 49
Ans. (b) : T TfFuM &1 =T 51 T I AP

Tif ST GRRTT BT TeTET 3 B 3@ 2

31. Select the most appropriate option to fill in the
blanks.
They waited me the bridge.
(a) to;on (b) for;in
(c) for;on (d) to;in

Ans.(c):mw%wwﬁm(c) for : on

Ealpin ERRCH] BT i wait for, fixed preposition g

T on T T specific location & fere fopam s 2

Correct sentence—

They waited for me on the bridge.

32.  Select the most appropriate ANTONYM of the
given word.

Scared
(a) Fearful (b) Nervous
(c) Courageous (d) Active

Ans. (¢) : €T 7T word, scared- (¥34id) Antonym
féhed () Courageous- (FRTGR, TIEE) B

o= ferebedt o o &-

Fearful- S0 g1

Active— Gfsha

Nervous— Ha{ET g3

33.

Select the most appropriate meaning of the
given idiom.

Poke one's nose

(a) Clean one's nose with a finger

(b) Try to steal things

(c) Help others to do something

(d) Try to interfere in something

Ans. (d) : [T 7T Idiom, Poke one's nose— (17T 3TSMI)
F1 374 fywey (d) Try to interfere in something wefdfa
T 81 3 fasheq 3T 37 &4 2|
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34. Select the most appropriate article to fill in the

blank.

When the light went out welit ___ candle.
(a) the (b) a

(¢) No article required (d) an

Ans. (b) : ST T & Rad WH § fFbey (b) #
Sk Indefinite Article—'a' <l YT FEREH] g s
consonant ¥ Tl 'a’ 1 JANT &l 21

Correct sentence—
When the light went out we lit a candle.

35.

Select the most appropriate option that can be

used as a one-word substitute for the
underlined group of words.

The little girl was reading a book which had a
lot of pictures by way of explaining things.

(a) Ilustrations (b) Decorations

(c) Ornamentations (d) Demonstrations

Ans. (a) : S a1 | KT Group of words, pictures

by way of explaining things % faTT one word substitute
e (a) Ilustrations— (f0T) BT

o= faepedi & o1 &

Ornamentations— HSTHI, 3Tcidhd hiAT

Demonstrations— J&¥iHT

Decorations— HSI9< |

36.

Select the sentence part that has a spelling
error. If there is no error, select "No error’.

You can bye clothes from this shop at
reasonable rates.
(a) No error (b) from this shop

(¢) You can bye clothes (d) at reasonable rates
Ans. (¢) : SR a9 § e (c) you can bye clothes
F WH W you can buy clothes I AT EEECH) grm
WBunﬂﬁ@ﬂW@ﬁTésﬁW%W
39 e 2 2

Correct Sentence—

You can buy clothes from this shop at reasonable rates.

Ans. (¢) : fauw T T ) ST Group of words, A
group of fixed stars F fau 3UFKT One word substitute
faehed (c) constellation— (AHES) B

a1 fasbedt & aref &

Cosmos— ST&IS

Congregation— STHHg

Clique- ¢, firre

38.

Select the most appropriate meaning of the
given idiom.

Little by little

(a) Immediately (b) Rarely

(¢) Gradually (d) Occasionally

Ans. (¢) : f&T T Idiom, Little by little &1 31 faeheq
(b) Gradually— (5R-¢R, i &9 ¥) Fei¥fa & 21
3= foeredt & ot §-

Rarely— harfed

Occasionally—HHI-HHR

Immediately— T

39.

Select the most appropriate synonym of the
given word.

Faulty

(a) Complete (b) Strong

(c) Fixed (d) Defective

Ans. (d) : ffT TT word, Faulty— (3mwqul, @) &
synonym, f4&ed (d) Defective— (3feqot) g

o= faeedi & o1 &

Strong— ASEd  Fixed— %=

Complete— U

40.

Select the most appropriate option to fill in the
blank.

For many years my ambition to
become a lawyer.

(a) are (b) have been

(c) has been (d) is

37. Select the most appropriate option that can be

used as a one-word substitute for the

underlined group of words.

Tonight, my father showed me a group of fixed
stars which was called the Great Bear.

(a) Cosmos (b) Congregation

(c) Constellation (d) Clique

Ans. (¢) : Y a9 | for many years F T 4 Wy
2 f% a9 Present Perfect Continuous Tense H 81 37
faseq (c) has been I AT SUHT BT

Correct Sentence—
For many years my ambition has been to become a

lawyer.
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Read the given passage and answer the
questions that follow.

The
Housing is building a new suburb in Shanghai,

construction company Hong Kong
a city with a population of more than 15 million
people. But this suburb is not like other parts
of Shanghai. It is a little piece of England. The
name of the new area is ‘English Town’. The
manager Shi
Guangsheng, says many people in this area of

of Hong Kong Housing,

China want to buy an English house and live in
an English town.

"This town is like Bristol or Chester. There is
an English square and there are pigeons to feed
like in Trafalgar Square, London. There are
four English-style pubs and you can buy
English beer to drink. There is a canal and you
can row a boat there like in Cambridge."

Are there any cricket fields? '"No, there aren't
any places to play cricket because nobody in
Shanghai can play this game. But there is a
football stadium like those in England. And the
thing we are very proud of is our shopping
street. There are several shops where you can
buy traditional English food like fish and chips
or Christmas Pudding."

The rich Shanghai businessmen can do some
gardening too. For with every house in ‘English
Town’, there is an English lawn and there are
long gardens with ponds and tall hedges. But
there is one problem. The houses in this part of
town cost a minimum of $400,000!

Which of the following statements is NOT true
according to the passage?

(a) The square in the town looks like Trafalgar

41.

Square in London.
(b) There is no cricket field in the English town.
(c) The
expensive.
(d) All houses in the English town have lawns.

Ans. (¢) : ELNED] Passage Ed 3TER fa®ed (c) The
houses in English town are not expensive 9 gl g s
f% Passage @ 3 dfoddl The houses in this part of]
town cost a minimum of $400,000! ¥ Wy 2|

42.

houses in English town are not

There is a canal with row boats in the new
English Town. It looks like the canal in:

(a) London (b) Cheshire

(c) Cambridge (d) Bristol

Ans. (¢) : SR Passage & 3TER T English Town
"8 fohed (c) Cambridge & St & S fp Passage
F g YferTal There is a canal and you can row a boat
there like in cambridge T Wy B

43.

What is the main theme of the passage?
(a) English pubs in China

(b) The housing cost in Shanghai

(c) An English style house

(d) An English town in China

Ans. (d) : YT Passage % main theme f&%ed (d) An
English Town in China 21
44.

Why is the construction company proud of the
shopping street in the English Town?

(a) It has several English style shops.

(b) There is a square with pigeons at the end of it.
(c) It has pubs where one can buy beer.

(d) One can buy traditional English food here.
Ans. (d) : ELNED] Passage Ed 38R Construction
company Gl English Town ¥ Shopping street g W
ofT %% é f% One can by traditional English food
here STifeh Passage @I 3§ Ufokdl There are several
shops where you can buy traditional English food like
fish and chips or christmas pudding ¥ oy 2

45.

In which city is the English town located?

(a) Hong Kong (b) London

(c) Shanghai (d) Bristol

Ans. (¢) : ST Passage * 3TTER English town fashe
(c) Shanghai # ferd 31

46. To=faRaa areivr & fo@ ©w Ieg &1 o
HifsTu-
‘e &= 9
(a) et OREEI
(c) forshifery (d) forafi
Ans. (a) :
ATeRATI Teh 916
fSrman & A forsmer
S g forshfersT
ST 3 =T W A frshifery
S # gt W aren | ey
ST g0 ISRIE
47. To=fafas o ¥ &A-91 fawen ‘9w’ &0 T
ared & §7
(a) AR (b) Fme
(c) T (d) ¥R
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Ans. (¢) : & T foedl § I TR CGRT H TH
e 7 &, S FMIE, GUZ qUT AR, R % guEe
7= E|
YT F TR TeE- YR, AN, Bofie, Seeed
ElIEe

(b) Tk, ™, TES
(c) 3TesT, fomedt, <=rem
(d) foehar, 3o, faeiad

48.
T 2
(a) TeHI, Hid, U (b) e, e, HeA
(c) AN, 92, T (d) 9%, fag, I

frafeafaa & ¥ fore forerew o |+ft v

Ans. (d) : fomeg (d) & @ ™ 9 v (e, Icpedt,
forenfi) amoy & waigert &1 o fawedi § e v @l
5 G 9 # gArEaE T8 2

Ans. (c) : faFed (¢) ¥ f@ T oft w= Aganr, =’
A9 T oG Ve B |

53.

Terattata’ vieg o ToUE § w9 W1 GHTE 87
U hi-

(a) R (b) T

(c) g (d) sFeriE

Ans. (c) : Frfafa v & fame § deqes WA 81 dege
T & I 98 F V== e 2l

49. To=fafiaa @ for dfvmal 0 Sater e’ §72
(a) & o off & 79 R vid-aRem #) 54. 'B3Y-BS WS T’ -3 WETAX R
(b) dR uTT GRY T Sren 2? sfura faenen =1 == Fifs-
(c) 39 I Flea 9 3f 2| (a) @A g4 B
g T WA AT (b) TH I & AR FT TH TR B ST
(d) 3@ o T T € TG (c) S T @ S
@t § e T # S @ (d) 331 F E
Ans. (¢) : 379 Fg Ffea W 3fS L | Ans. (b) : IR-IR TTAR AT R 1 374 3- ThH
EicRR kR cl S & ARl B UH-GW F S
S dfeRrl # ISk STeihr B 55. Treferiad § 9 fone foresg ® el @ieer’ 7
Sl W ITHT H IUAH Y GG Febe N ST F@T Iorel (a) 3+t (b) T+
SR BT 8 (c) TR+ (d) T3

50. fr=feiaa 4 fra oy O oo gt
srqfeg &7
(a) SRT T B (b) Af = YR
(c) W=l & fow 9 (d) M9t oot

Ans. (¢) : @ T gy v & w9 F gua
T ofE 81 YE a9 3 YER aM- Con %
T | o1 fsbedt # fad T gt A g €

Ans. (b) : & T fomedt § o + Sl = ‘Tl # 49
oy 21 3 fasedt § o3 T woft oy forese & ofy
I 3 IHR &

T + 3itet = gfg dfr

el + 0 = o7 §fy

i + e = gfg Oy

51.

T 9Teg §7 Sfera farehed T =@ hitaa-
(a) (b) ==
(c) gt (d) Tt

et fauie =t 3f® 9 fore Torerew ® 2vang goft

Ans. (c) : &3 T fopedi ¥ ‘gedl’ wisg Efein @ SEf
R, =% T We qeaT ek €1 o7 faeed (o) 3 I
fir 21

52.
o gHtgerst §?
(a) 99, I, HUT

freafafaa # 9 fore faee & a+ft visg o

oW Q. TEriw R UfeT SR W W€ YW Y
oAl o ST SR

‘olieh WIfEeT & 7@ g gH Heifta e,
HUTS qAT T ekt Witehieleh ORI 99T 3AH
Heiftra ufRaer &t gus § W frerdt ¥
Fuld AH-Aiger gU-A W Tw  FAA
TEEUl WL §1 R o e Ua sl S@r
arfaer for oiier Afgear o SUeTs g ¥,
A AW Bl W Wi aega: @Ehta
WEY W TAOAT A A T WEeaqul
[ 1 SSIEUT o AT AT & A1 o wia
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h-AFE & env-fuafda et @t I8
Ffirearth woe URaYT &f |elta €9 J&gd
welt fo@rg ot €, ger-t wmef e BT A
AT, W AR W deend et ar g s
T TGS U, TUAT T AT HATH aht 2"’
I AT 3T o T ok Sa § S &9
EAT-HIET ¢ SHA! duT  IEE S
yfafsraretl @t Wesl w@raTfase w0 o AfreTh
T AT T THY HIOT TR Aifge | v -
Rarsr, aa-ER, SET-UTERTST AT i Tas
AR Bt Tl AAT-9 & ileh @igeT o
UgA, 3N, MW, “Hgem wadl e @r
Ieorg Tirerar &1 Wi & wad § aE-atE #
frsTEgat, s, gl ITfg o AW o IR
wefi-wmefy a1 @ wmit w5, Wrea-ueraf @t
Th @l anerRt @ Sueey @ W ¥,
TETEU F G | 3E YRR & T, e,
3w, fordi, fegpelt onfe & Seor@ faera @1
et Sfte & fafaer uet, e 9,
WA Uefl, WE-TGT P ATSeAl o, AH-91g
&% S, T-oeg *r wer g, qeEt -
ot it k-3 ITfE a@ i foerdt 21
TR W W ARSI & |REl- SR, I
W Wt TAreh-ATel o I, fordt-sem, i,
s, UaT, fieeit-ger, nfe-fisiel, @i,
g @i onfy ot <o & @Well w1 aui
fererean &)1 Witepfeeh-sfram & sreia Heeaqut usit
w IreAfh-clies-fasmal, wfga, ur=are,
iR ATrETed 3R Sg-e wwerft farat
&l ot ST frerd €

e HIfge owgd: wieh Sta= sl U §1 I8
wmad e gl ydfia gar & fo ‘olen-
WX ik Wip(ar i e ¢ 3T wieh-
GERid 3Hehl s’

‘areft wreE B W UEET, I § AR ¥ TR
it '-og ot foRe weRr oAt T &2

(a) W Hifee (b) HEpfF wfe
(c) AR Hifge (d) Uferfas afee
Ans. (a) : ‘Mff T BT F wEH, IF T TR H dCHH
oAl 3ot TEAT Al Fifged &I TEAT &

56.

e WIfger o reTa" O fhl Wk ol 9wed
W e H wErEdr Ut €27 waitue sfoa
I T TI hiTT-
(a) A YT & SATHT H GHIA H
(b) Geiferd Sfd, THNST daOr TP I WiEpfdS
TS qT 39 Haift uRawr i gHge |
(c) TASH & FEAT 3 Akl e % gaEe
q
(d) TR e i Afeafh & gz &
Ans. (b) : 3T TN F FER AH T & TeA
T ‘dafed sfa, 9wt q9r TP A Giepfos qwwedi e
I et aRawr & gHee § GerEd fierdt g1 e
fersperd (b) W& I B
58. TNV o U WAt Uk YUk w1 wraw
-
(a) I Wi 3 TEHf
(b) @ e
(C)HT%WTT‘H\TH
(d) TiEpfaeh gRAI HT 3TeFTA
Ans. (a) : STIF TV & SER ‘AS e & HEp
Haifess 3ugad it gl
59. TUfth- 'd @Al ekl SETeRTt gHer, BUAT & T
HITS Y7 U T I1eg ‘gl ol Tl o oref
7
(a) 9 I 9IS (b) ST &
(c) et = (d) TH I
Ans. (d) : ‘T FR F SR gHA, TIAT @ T BTl
& ?
39 Ufe § o1 VIR THG I WF I F 2
31: fashed (d) & W e
60. IR |IET oAl olleh S AT SUUT o=l kel
T §7
(a)ﬁﬁi?ﬁﬁimm%w@w
A AT T Heeaqul e @
(b) FfF ANF-Tfeed AD-THd 1 T &
(c) HifF AF WeTdR 4 e § N FB
TGA-GA § TR Hew Wfas &9 A
AR F &

(d) FfF O Tt § 3T TON F, T,
TS & @reEl, s foardl stfie i st
1 @ 31 H

57.
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Ans. (d) : % FEA & oAb ST B TG0 FHel T4
Fif ok e § I TAN H TP, IeH-UH,
TS, ©A-Hed, @H-UH, FARSE & |, mie
fergamall anfe i 4 & & MY w21

Ans. (¢) : FEAA § TG Hh IR H ST TS GG
H 3Tk AR ¥ FTHT B F oI e S @) e
F ITAM GIIHH H UH STTAEF BNF & €9 § qd ;W
$9 % *7 § TGN fRar T

61. The distance of the Sun from the Earth is about

light minutes.

Tt ¥ g & gl o TehtoT fae S ¥

(a9 (b) 7

(c) 8 (d) 6
Ans. () : 3t T gd &t g A 8 W fae @ 2
T & e B gF G ge 9% H A B F H 8
fire 16.6 YhvE o €1 GF 3R g F 99 g A
149.8 faferm feedh. 21
62.

Four objects P, Q, R and S, are oscillating with
frequencies of 1.0 Hz, 4.0 Hz, 2.0 Hz and 5.0
Hz, respectively. Which one has the minimum
time period?/=IR g U P, Q, R X S, U

1.0 Hz, 4.0 Hz, 2.0 Hz X 5.0 Hz &1 Srgia=i

64. Consider a vessel full of water, placed on a
table. Let A, B and C be three points in water
at depths d, 2d and 2d below the surface of the
water, respectively. Water exerts pressure P,,
Py and P at point A, B and C, respectively.

Which of the following is true in the given

scenario?/@ﬁﬂ“@ﬂ,wﬁ{mﬁ
T TE U W &Y AT R S ot 9ag
o Ter SRATT: d, 2d 31T 2d T TEEAT W A §
= foig A, B 3i C frea 21 fagedt A, B 3R C
U A HAIT: P, Py AT P S1& WA shiam

2139 uReya ¥ 390 | o9 91 wet §7?
(a) Pg=Pc (b) Po=Ps
(c) Po>Pc (d) Pg>Pc

& WY AT w @ T fREeRT AadenTd

=T &7
(a) P
() Q

Ans. (b) : §7 ¥ 3¥adshrd T:ll:

() S
@ R

PWW(T):i:l

Q & EdHIA(T) = — = 0.25

B

R &I AR (T) = — = 0.5

[— o=

S I 3TEdH (T) = 5 =0.20

3T: S H SR AT S|
63.

Which of the following products, obtained from
coal, is used for the extraction of some metals

from their ores ?/&IEA ¥ U fog o | fergy
IS T SUINT FS TGl hl Seh TR &
fremiia wer % for feperm STt 872

(a) Coal gas/@ﬂ?ﬂ g

(b) Coal tar/®Hd TR

(¢) Coke/i%

(d Naphthalene/ﬁ'@ﬁﬁ?

Ans. (2) : 09 W W 9@ ¥ W IH F G737 A, B, C H
TeUSAT AT d, 2d T4 2d B

@,  P=hdg -

&  P=qd, h="TRUE

.+ fargeit B a9 C & TewsEl WO 2

-, fogsli B A C W @ aren @@ ot THE g
T Py = P T W

65.

What is the use of sodium benzoate in a
Kitchen?/T@1E =X ® WIfggw SWiue &1 =0
ELRILE )

(a) It is added to accelerate fermentation./ ™

fohvae & 99 B & e fretrn S 21
(b) It is a surface disinfectant/ 3Jg Hds

FISTUHTI B

(c) It is colouring agent used in confectionaries./

I8 =Ml (confectionaries) H IUANT fopa =
Tl 1 FRH (Tsie) B
(d) Itis a food presewative./ﬂ%’wmél

Ans. (d) : WE W F Tieow S9N & ST TE
e % &9 § & 21 WfEAH SSue & A &9 4§
T W geret S gers SR (SER % fd R
¥ wfufes wfre), HEHe T, S99 3R Bl & @, 3R
T S SH gu S S § Suge A S 21 sue
I garetl R diwed yEreEl § uRwers % w9 A off
fepem e 21
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66. Nylon is used for making socks and stockings.

Which property of nylon is put to use here?/
AT & TR T F HROT FHRT START HWiSH AR
T (stocking) S & Torq femam Srar &2

(a) 3=d YAEIdI/High elasticity

(b) 3= a4 W/High tensile strength

(c) afeT SfiE/Wrinkle resistance
(d) f9¥1 ST TFYURU/Low water retention

Ans. (a) : TIAH F IoT TR 0T & FRUT THH ST
A 3R LI (stocking) T & o1 frar Smm 81 AR
Ty swarh fdfes el g, Rwer swm e e
TfefEt ¥ de sdt @ fe-Re @) 95T ToRd aW &
FROT AAAA FER F I R, 7, ASA ThST &
e, Y S M % ford e S 21

67. Which of the following materials is NOT
malleable but is a good conductor of

electricity?/ﬁl’ﬁf ¥ ¥ wmE-"r U

smearaae=a T €, Aifer ferga &1 gemere §7?

(a) FH/Gold (b) F/Tin

(¢) IW1gZ/Graphite (d) ®T/Coke
Ans. (¢) : THES AT A € dfeT faed &
e § i AhiES U UIg 21 SEEEiEar €1
1 98 0 ¢ FEY oy A R wgen fFE 3ue el
Tl S S Gehdl @1 AHES hisiA ded b1 T [eheeelid
%9 31 THH SYANT Uit o e H s H fpar S
2
68.

A child born in 2010 will NOT receive a
vaccine for __ as a part of the childhood
vaccination program./2010 T 9 o 9
ool hl ST SIGhIGRIUT HhIEhA o W & €T
W Eet @ e

(a) WE/measles (b) fewfift@m/diphtheria

(©) ‘ﬁﬁ’ﬁﬁ/polio (d) FIEt A/ small pox

Ans. (d) : 2010 § S @ aTd a=al I a1l JHEHT
W%W%Wﬁ@W(Smdlpox) 1 el 81
T < Ueh i Thrae AT €, S g areRd
IR % Te AR 9= & HROT BT 2| A Wi,
i AR Tl Al & M-I "ok ¥ e
ATt §&i % e ¥ thorr 21

feufiftar— feiftar & R & Jifar FRASIRa
fewfiftar % SO & 81 98 TS A AF H gA Fast H
T A WA S I 7, Y i o R e

TfYa & S 2|

69. U <@r T § R Wifsaw W % WY gt
yaear ¥ AffeRa atar ¢ foh 98 3T uwks
AT §, Satew AR FHad T W & q
arfufsrar &t & RN Saed gT oIt & WY
AffeRaT wiaT &, Wl gl o™ & |y
TRIfehaT SHaT §1 3T UIUT o e W e o
¥ T HAA H =TT HI
(a) TifeTm ethe & Sl faere #I g &9 &
i =1 IR % e § G fopan o wwar 21
(b) iz dohe & Sefw faoam # a9 4
Faa R HeR & T fopam S Hebel 21
(c) A Tehe & Sl fGoaq i g &9 9
Fact e HeR & i e S webar 21
(d) 3T Tethe & S faeam & g &9 9
AT a1 R HeR H T fohar ST gebar
2l
Ans. (a) : 3TF ¥ ¥ fowcd (a) T 21 Gifsaw 5 &
T 3 YeoraT ¥ AfufRaT T & 6 T8 3T ushe ol
2, wafsh AR Haer T St & WY SAAfHAT BT 8,
i Seeld g STl & Wiy MHAT BT 8, S el
a9 % WY AHAT AT &1 I JIUT H1 SER HROT
TifsTd Gethe o S foeed ® gwa &9 § s
e & hel H e foham S Wehal & |
70.

In nature, petroleum is found trapped between
two impervious rocks, along with saline water
and natural gas. Which of the following is the
these
components are found from bottom to
top?2/9ehte B, USiferad @R S Wrepfersh i@ &
| A AN T ok sirer uren wwan §) e §
{ = o T §, e 3 i wew fo 9

U ek UTT ST 872

correct sequence in which three

(a) Saline water; natural gas; petroleum/QN Sci;
’>T|§3ﬁ|7=5 ﬁq; a@ﬁ’m'q

(b) Saline water; petroleum; natural gas/@NI Sicd;
ﬁ?rl%mn; W g

(c) Petroleum; natural gas; saline Water/afffc;'l’qq ;

pfereh H9; @R ST

(d) Natural gas; saline water; petroleum/STehfceh
9, @M ST; Yeiferaw
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Ans. (b) : Yiferam Y&t &t 98 & - agd S T@E
W WAER FgH @l dF G S 2| WS e e
2 & FROT Y2Iferad ¥ SW Fafh el Ueiferm TR <o
T gohl B F FROT IA B GAE F FW qEAT S 2
3 A9 ¥ FW H 3R A A geH F HA TH FBR
8- @R e —> Wi — Sk 1)

71.  Consider three cylindrical blocks B, C and D of
masses m, 2m and 3m having base areas 3A, 2A
and A, respectively. They stand on their base
on a floor and exert pressures P1, P2 and P3
on the floor, respectively. Which of the
following relations between P1, P2, and P3 is

correct?
TRAYT: m, 2m 31T 3m S TAT 3A, 2A 3R A

MR ATHS T i Se=TeR Tl B, C 31
D W f=m & F Wt UT 31U SR F WEn
@ U § SR Wyl W sRET: Py, P, 3R P, T
AR P, P, 3R P, r s @ gam &
THIF-HT Hoier T 87

(a) P,=P,=PyP,=P,=P,

(b) P; <P, <P,/P;<P,<P,

(c) Py <P, <Py/P; <P, <P;3

(d) P,<P;<P,/P,<P;<P,

Ans. (¢) : 491 I A, B @1 C % So98H %A m, 2m
q9T 3m § TAT 59 TR % &l HA: 3A, 2A T8 A
. I 1
g T e PO e
rpBp B
1 A2 A3
arp, - D8 p _2me p _dmg
3A 2A A
qrp, M€ p _ME p Mg
3A77 2A77 A
mg _mg _3mg
3A 24 A
I P, <P, <P,
72. T ¥ Q& 91 ®IT GE 27
(a) Tt B G ARl T quf @5 aren
9T il @ 3R Haifers T g 2
(b) AFERT F A F W AW FOT A 7 SR
Tad A T B 8l
(c) HHeT o ol B oW STed W THehEr Bl @
3R waffas T a2
(d) HImeRTt A BT FRAT AT YUl q@A A
T B € 3R G w9 § T g 2

Ans. (a) : A9t 1 @t & SRS 9T Fer @ 8, we
% 31T &1 Sl o § g9 & S A He T I g,
Sefe el 7 el & SEren & Hed # gl @ adl g8
=BT Bl 2|
73. TGS W IaTeT St WO Jlg i a9E | Al
T Hise @ vl ot Sftat it geg & Wit
1 T == g @7
(a) HfF 8 Hferd SFdS B =9 711 H 3T
0 BRI Raftai Seae o 3 71
(b) ifF a7 TS AT H e SRS
Th i AT S ST a1 I 2|
(c) it o8 Tt WS & ITAN B el & 3N
3 ol Sfel B FER w2
(d) Fifs g & & THET B AAS F qA D
qge § U T B
Ans. (a) : T & Siara onfe # gl S RO Sga
ARrFAET H e qerdf S AET 9% ST @ frHe SR
S # gferd offediod, ITAM & o S 8, 9
URUTH-TEY qTd & S B S # AE AT 2-3
foefom/dfict @ %9 & o 21 @ Rfy gt
FEA 7
74.

You are given three metals ‘A’ , ‘B’ and ‘C’.
Aqueous solutions of their salts, ASO,;, BSO,
and CSO,, are kept in three separate beakers.
When these metals are reacted with these salt
solutions one by one, it was observed that ‘A’
reacts with both BSO, and CSO, solutions,
whereas ‘C’ reacts only with BSO, solution.
Which of the following is the correct order of
reactivity of the three metals? /3TTUeRT ‘A’ , ‘B’

AR > ftmr e & TE {1 e e o et
fae@ ASO,, BSO, 2R CSO,, @t i 3rem-
7T SRl § WET T 1 9IS Ueh-Teh ohieh 3
aTgstt 3 Tau o faeEt & Wy erfufRen
gt §, aF IE @1 SI@r ¥ R AL, BSO, IR
CSO,, ot foreramt & arer rfuferar wvar &
Wafeh 'C' shael BSO,, Tae&= o drer rffsmar
@Al g A § | @i o i angett
arfuferamyferar o wdt o 872

(a) A>B>C (b) A>C>B
(c) B>C>A (d C>B>A
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Ans. (b) : &TG3H A, B @1 C % @80 ASO,, BSO, a9l
€SO, §1

sifers sfufpaeier o S @ Bu s
g ST w wed & o uig A 21 faerEl
BSO, Td SCO, ¥ ifufhar st @ s9few A, &g B den
C ¥ s fparefia § S C Faa BSO, ¥ far &<

ot § TEfT 7% B ¥ s fparehia 21

3rq: fepamsfieten =1 %9 A >C>B &I

75. Which of the following organelles is in
eukaryotes but NOT in prokaryote/&ﬂ:r i)
I T RITITRIT '{lﬁﬁiﬁ (eukaryotes) U EMAT g
TSR UTeRhseh! (prokaryotes) ® =& grar &7

(a) SHITH §4/Cytoplasm

(b) Hif¥meR freet/Cell membrane

(c) TEMI/Vacuole

(d) H5H/Nucleus
Ans. (d) : FIRHET F TFH F YR W S T H
et s & ari # e e T € gE (eukaryote)
T4 YahEH! (Procaryotes) Ghsa! | Sia # HIfvHET F
fi Rrccfige qof fosfad F5F (Nucleus) @1 ST 2,
St St F AERE Tad (DNA) % &9 § Iufked gt
21 SeFhg®! (Procaryotes) Sial @1 YR hssh Tad
2t 81 T e HIRET (Primitive cells) 9 Feerdr €1
TRhsl HIRTHRT § 3 FIRHET 7F (organelles)
& e I €
76.

The human embryo becomes a ‘foetus’ when:

TS Ut el e ST 87

(a) it starts moving inside the uterus
59 T THISE % e T & BT &

(b) it gets embedded in the wall of the uterus/ 9
7 Tty i fufy & wenfug & S @

(c) it develops a head and all four limbs/SI90 I8
iR 3 el wm ein foepfim o 2

(d) the fertilised ovum divides to form a ball of

16 cells/Sa fufaa o fawia g 16
HIRTEHEA arell e/ Mersh &1 i e 8

Ans.(c):9§fWﬁW‘{W%?ﬁ:ﬁaaQ??ﬁ:ﬁﬁ
foefr 8 o € 3R 104 gare @ gufd W T8 g
T w® S s T A i g wed @ @)
gt 108 gwie & oiq & wfeer Rrgy & @, W (A wR
qC) T &Y F FoR- 3 T 2

77. Where can you find the following cells?

ot hf¥TeRTd et & Wehelt 87

(a) In the lining of your mouth
HE o T (lining) H
(b) In the brain and spinal cord
Hfesh SR HEtsy |
(¢) In an onion peel/Aausft s &
(d) In your muscle tissue/@Tsl & foos o
Ans. (a) : 7 ¥ weffa FIRET 7ok TG0 (scale-like)
g S =ud B 21 U v weme ufuafeem st
Tg % 3R (lining) ¥ TR S T1 A FIEHT a&q: U5,
A 3T HHS & Tfeaaret ofE & SR F B &)
78. Which of the following statements
TRUE? /i & @ &9 W1 e 9 &7
(a) Oviparous animals can reproduce without
fertilisation/3fest Sig fomT =M & oM
Hahd 21/

(b) A hen (chicken) can be produced by external
fertilisation./aTa f= g0 it &1 fmfor &

is

TR 2|

(c) All oviparous animals have internal
fertilisation./Ht 3fesT Siqafl # a7faRe faoem
B £

(d) A human being can be produced by external
fertilisation./aT&l fs= gRT HWEFFWUT Gl
R
Ans. (d) : 3UST S 9 ST &, S 70 I &1 T e
4 o e & S "9a A8 g qen e SRl A
TR & Tl @ W 9O 1 febrw H % & A
T 21 G- SR, whgu, g, weh e smédum
TS g Aa § 9 e g A o i g9a g
G svest % g § ot Fud e 21 9 R (d)
T 2|
79.

When a plastic comb is rubbed with dry hair,
hair is said to acquire
when a balloon is rubbed with a piece of

charge and

woolen cloth, woolen cloth is said to acquire
charge.
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e W AT & F whew o s w aw

STt § TS WX ot § JTSATT ST &Y

ST & 31T Tl et hug A TreA W St

wHUSH JTATT IS & AT 2

(a) negative; negative/RUIHS; FINHD

(b) negative; positive/¥g-TcHeh; FUMHD

(c) positive; positive/Ed-THeh; HATHD

(d) positive; negative/HUTHSD; GATHD
Ans. (c) : TRESH & HH F @ A T Ve W el
@W(—Vecharge)ﬂ@ﬂﬁ?ﬂﬁﬁaw%
o8 W FHOMES TEY A A W IS A
1 W 21 56 YR R B A HUS § e W A
SO 3 @i 8, Stefd S U W UM EY T
TR R TS ST I~ &1 ST 2|
80.

The average daily energy requirement of a
family is 15000 kJ in the month of March. If
this family uses wood as domestic fuel, then
how much wood is required by this family to
meet their energy demand for the entire month,
given that the calorific value of wood is 20000

kJ/kg ? /9Tl o WA W TRt afar &t fma
e St 3avEeRaT 15000k 1 AfT T8 uRew
T T h T W AR T SUANT IT &, A
T T % T 3@ aREm W et St
T &l YN i & Tohe-T TRl aht TTAIThar
gft, (feam T § f st & dherdt W=

22000 kj/kg & )?
(a) 25 kg (b) 23.25 kg
(c) 16.5 kg (d) 15 kg

Ans. (b) : TRaR &I 3FH Fo1l AETFHAT (T % TEH &
feTT) = 15000 Kj (/9 % 3TER)
3: 9 & wEH (31f) & faw
39t @Ud = 15000 x 31 Kj
TYAER 22000 Kj 35t & fow @raet it 7/ = 1 Kg

1
- 15000 x 31 Kj St & fag =—— x 15000 x 31
! 22000

_15%31
22
=21.14 kg (FT4)

T8 A9 fashed (b) § AU T 99 23.25 Kg & Haile
fehead € o1: Wl SW b Bl

81. Which of the following is a natural non-

renewable resource?/fS=T W | T @1 ‘;l'lq-TﬁlT:E

R-Tefiertufiar dameq §?

(a) Wind/arg (b) Minerals/@f"s

(c) Solar energy/HR 3t (d) Soil/gar
Ans. (b) : 9t W @i goeE difd qmn A §1 g
e B & RO WEY 3T T § AR HH 3 @
2 Forgehl O it Wb deiebitersh wfshar 21 @he 9ot W
ARG @St % Sg-ofifess aRadqt % g Al g 8 s
JuE g9 W A wimar § T 9 gad €, ol ¥ W
et g §
82.

When we say that something is a ‘myth’, we

mean that: /S g0 98 a—rs%r % It 'éFh's‘ =frst

‘“firerer’ &, A SHERT SRIT RIS BT 872

(a) it is an ancient or historic fact, but may
not be true now/TE TH THH a1 UfaIa®
7oA 8, Al 3/ g 9T 9 |

(b) some people believe it, but other people do

not/FB A TH AT 7, Al I AN AE
T 2

(c) there is no scientific basis for the belief/3H W
g B 1 I Il SMER T 7

(d) the idea is associated with magic or
mysterious forces/T8 o Sg a1 wWeHH

bt 4 et 2
Ans. (c) : o &1 a1 graaT T g a1 e § 8
S arafas T8 A 71 fHs (Myth) gaits dgifis &9
T qedl (facts) ¥ o S == (Strue) &0 & i I
favardi (beliefs) T saferd Ar=arei 1 Ha9T FHIRT Hd
4

83.

Which of the following is a poor conductor of

electricity? /398 & @< W1 foga &1 Foew

¥

(a) Vinegar/faﬁ"'l'{

(b) Tap water with salt dissolved/@@uT fafsa aa
ol STeT

(c) Pure water/I[5 STcT

(d) Milk/g¥

Ans.(c):ﬁ@ﬁﬂww{%ﬁmé, et 3o

foreft off R % e = Al wvr T ur S e

7 faege =req  sremd g 81 9 AR @ 5 s o

e 1 FeTers g 2|
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fom o fawar (Wafes ), @ fafdm A

F 9, Td g9 & qoff #H afae Fur (3Ev) F P T

TS WET SEYF I 8 T F geres e &

84. Which of the following is NOT a
petrochemical?/ﬁﬂ:r T ¥ &= | 'aZjTFHEF-r
& 77
(a) LPG/Terdrsit (b) Kerosene/HUTH
(¢) CNG/Hu=sit (d) Bitumen/fSgA

Ans. (¢) : 9T (CNG) WERERA & 2 afesh I8

FUTE TP TG (or compressed methane) 8 SEfeh

TIREEH a1 Wiferem FE & wed 9 @ 9w T

TS R P AifTt B fager g @ R g A §

rpreites qard off et wd &

85.

40 Which of the following crops will require an
Indian farmer to provide the most

irrigation? /fe1 ¥ ¥ fre weat & foT et

e @ wEw ot fiemE & @t

JTETIRAT BRt?

(a) Winter crop of carrots (takes around 80 days
from planting to harvest)/TSR I Sfdehrei
FOA (T § AR FeB a% T 80 fam

A 2)

(b) Rabi crop of peas (takes around 70 days from
planting to harvest)/AeX &t & Hga (J9uT

FH FTE qF AT 70 BT AT 2)

(¢) Summer crop of tomatoes (takes around 100
days from planting to harvest)/ZHEL
HrAHTel HHA (T § AR HE qh T
100 & @ ?)

(d) Kharif crop of paddy (takes around 120 days
from planting to harvest)/9H & GIF ®Ed

(AYUT | T BT T T 120 & Wl 7)
Ans. () : STF  § R & Fwihei= waat (Jawr §
T FE % TET 100 A o 7) F T ARAE
e & Tag oIt R & & savaskar gnf
THF U BEA IR § AT 600-800 fHe. femE
H AETIHAT B 8| GoH e =S areht Bl oM,
W, T, el AR Ao I 2

86. Which of the following statements is
FALSE? /{3 § § &9 91 % TTerd §7
(a) Deforestation often results in desertification
because of unchecked erosion

AT TG (erosion) & FRUT TSI
T HEEITHl  (Desertification) # URUM
B &

(b) Deforestation may result in floods because of
reduced porosity of soil.

A= (Desertification) ¥ firgt @t Tgar §
FH & RO AE I Febell B |

(c) Deforestation is linked to drought due to
higher carbon dioxide in the atmosphere.

'cFﬁT‘FH (Desertification) aTAERIT ¥ Fa
SRS I SAfUEA F FRUT JewE Al
T 1 RO ot & GehaT 2
(d) Deforestation raises ground water level, as
less water is taken up by few trees. 'cFﬁT‘FH
(Desertification) g qSled T el %, ERIE
9 U FH U o 2
Ans. (b) : IWF FH F ¥ FAT (b) FAH
(Deforestation) g ﬁ-@[ H G § HH % HROT ElRE
Tl 8, T @ i Ao & qRUTAEed gay &
S YR AT HE & S g1 AdoRH, YA H GAE
S STl 1 AT % | S @ e e ') §
firae o1 St 81 37 Pe T 2
87.

A ball is rolled under the following four
different scenarios with the same speed under
the same conditions:

T i @, freifea o fafisr afigea o,
A ffeaat § T6E o1 W EshraT S
(a) a marble floor covered with a thin layer of

sand

X o Ueh Udell W W gl ST o6
(b) a marble floor/HTTATAY St Tt
(¢) a wet morble floor. /HTTHINT T TfieT WYt

(d)a morble floor covered with newspaper
ITEAR | TR I HIHE I T

In which case will the ball travel the longest?

wt

form Reafa @ Tig wo@ elt gt @k wmaEt?
(a) b (b) ¢
(c) d (d) a

Ans. (b) : Tt B3 R FE iz e R g9 Afewa
T % I wY F e S ue W R Fwe 21 5e @
et fopw TC TR & wel @ e & 8 st Rafoa
T ged F g o 39 fufy ¥ e waw df g 7@
ST |
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88.  What is ‘marble cancer’?

T 8T (marble cancer)' &1 ElaT &2

(a) Formation of lumps of mineral deposits on
marble surfaces/STHX & Tl W SHT @il
SUCIRELIL

(b) Formation of small pits or holes on marble
surfaces/STHAEY I gl W BE-BE T a1
fesi a1 fmio

(c) Yellowing of white marble monuments
e TR 9 faffa @Rl & drere

(d) lackening of white marble
monuments/STHTR § fAfifd @R 1 Hrem=

Ans. (b) : STAHR T HTR, AT 9 & TG F BT
TGl TR (SR § ) & T 5t we 81 59
FROT R & I96 924 & -9 TR TAE W
BB T2 T fox A o §

89.

A plant species is called ‘endemic’ to an area if

it is:/frdt urew wenfa w0 feRdt @ & faw

‘TerfreR ' el AT € Al 9% |

(a) the most common species in that area/39 GES
¥ o I el watfues e et @

(b) a rare species and in the danger of becoming

extinct in that area/TE! SSTfd 8, 54 39 forgiy
&7 & a1l Hel off T I S Hebe 7

(c) a species that cannot be grown anywhere
outside that particular area/39 e ‘TITSC Eic)

Tt g S § et TR Paw A
CINCI
(d) a species that occurs naturally only in that
areaf@@ﬁﬁ%,\—rﬁm@@%ﬂaw
&7 7 o S @
Ans. (d) : ST Sonfq S Rt & fav § & s o
STl B e e fawr 39 & & gl e ey # &
g Bl € 98 39 & o fou w@fes (local) @I 1
A 3T W NG % forg e @ st fafire &
% BRuT T gl 9 F ofyedt o i wnfae sty 2

90. Which of the following statements about
friction is correct?/SISUT o Teier ﬁ,gﬂﬁ Elcar)
T R TE E?
(a) Friction depends on the nature of surfaces
in contact
odur, Hueh o efiT gst @t wehfa WX faely
AT 2

(b)Friction the relative motion

wetween two surfaces in contact.
U, Hueh o 7efiT | gst o sfter wruer i
T WFerrer Tt 1
(¢) Friction is always undesirable
THUT W SIS BT
(a) Both (a) and (b)/(a) 3 (b) at
(b) Only (b)/&aa (b)
(c) Only (a)/FaC (a)
(d) (a), (b) and (c)/(a), (b) I (c)
Ans. (a) : 907 21 Y07 9 a9 A H AT @ T &
T F TAE WER HUh H A ¢ I e # we
T (relative mation) Bt 21 teffd =T gt S SHA W
freft T ?1 Gt A1 ® TR 5N s w9
T S ¢ SEfs faeee wael (yRi) e s ®
U1 SiEA 9 T 8 | et oo 9% Wt @ S & g %
e Hre T 1 A T B

91. Four objects, A, B, C, and D, make 400, 320,
120 and 100 oscillations in 10 s, 16 s, 8 s and 10
s, respectively. Which one has the maximum
frequency?/9IR T&T A, B, C 3R D, a9 10
5, 16 s, 8 s 31T 10 s ™ 400, 320, 120 3 100
et it &1 Terment Mg arfiremaw €2

opposes

(a) A (b) D
(c) B d C
Ans. (a) : 5 A 51 9q §FvE AT (A1 3MaR)
:ﬂ:40h2
10
320
WBWWWWZEZZOM
a@cmwﬁm?ﬁm:%:lsm
a@quﬁmw:%:lohz
39 YR g <@ 5y g A &
MRt 40hz § S fF o= awqeit = emgfl & waw
e 21

92.  Usually, the sound produced by a drum has a

and that produced by a whistle has a

W:,.@mmwhﬁ BT
£ afit et g s ety ® T E
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(a) high pitch; high pitch/3= dRE; 3=d TRA

(b) low pitch; high pitch/fH dRe; 3= aRe

(c) high pitch; low pitch/3=a dR; =1 dR=

(d) low pitch; low pitch/f= TR fe dre
Ans. (b) : S T Ft Mgfa U IR F STAME
3 &1 efy 7T A TR fo =T A, AR I &
ek i | WEa: Th 9 &9 U (Pitch) 8 & HROT
F e IO BT Fifh TH H WA HH Mg W
FF HUN Sfafeh Tk Het 3=a 4" (Pitch) & HROT 3=
ey 3= ot Fifs T F gar 3= Mgt W HEA
FHM |
93.

Two sources, S; and S,, produce sound waves
of frequencies f; and f, (=2 f;) under water.
Then, these waves travel from water to air
under the same conditions. Let f; and f; be the
frequencies of the waves from sources S; and S,
in air, respectively. Which of the following is
correct in this scenario?

oA S, 3RS, TeT & W £, 3T 1, (=2 f)

AT T eafT T S A 1 TAIT A

Tar, g Rafaat § 9ot § 9 ® T St

21 9T R w0t S, 3R S, | arg # e it

H AGFTar wuvT: f; AT f, ¥ 3@ URgeT o

AW W -1 WE 7

(@) 5>f, f>fand £>2 /f; <f), f, < £, 3£, =

2f

(b) f5<f, h<fand ;<2 fy/fy<f, f, < 3L

<2f

fi=f,=fHhand f,=2 fy/f=f, f, = £ N

=21

f;<f,fy<fand £, <2 f/f; > f), > £, 3L,

>2 1

Ans. () : 581 &l &d ¥ 3e=1 @l &t gl weem

W faeft 78 Sl @ o @l S, W S, ¥ S |ty

Sa g Refedi § 9 9 arg § wawr HOT @ A @t

I eMgfEl # HiE Reda AL S ST ey
f,=1, f, =6 W f, =2f; 9 2 % T

fafs § &l S, @ S, I it w9 f, W& S, a9 f,

W (f, = 2f)) §aiy faar = o

9.

(©)

(d)

A plane mirror is arranged horizontally. A ray
of light is incident on its centre from a fixed
source at an angle of 450. The mirror is rotated
about its centre anticlockwise by 100. The
reflected ray is rotated by

Teh |Uaer U sl Sfawr w@r T §) s
THf3ra & & T wehror fereur, 30k g W 45°
& SHITT U AT Bt §1 U0 Y TS hg W
10" amred guEn TWer ¥ wiatid  fwvr
e & el
(a) clockwise, 10°/fromad, 10°
(b) anticlockwise, 20%/amrad 20°
(c) anticlockwise, 10%/amred, 10°
(d) clockwise, 20°/afFoTad, 20°
Ans. (b) : 5@ fE THaA YT 1 et fawm & 0 wor 9
AT S § @ wEfdd T off gEe g T e 2
0¥ 3T fwm H g7 SR @1 I T U B W R
% TrUeT 10° FHTET faen § EIET SR a wafdd o
(10 x 2) =20° ¥ gH ST |
95,

Which of the following in an ongoing task in
agriculture?/f=1 o 9 sH-91 Eakl o rfera
&1 (ongoing task) &?

(a) Tilling/S& (b) Weeding/fTg

(©) Ploughing/ﬁﬁl’sF (d) Sowing/§3T§

Ans. (b) : ¥ 7 g (weeding) T 3ifawd Hrd
(ongoing task) 21 39 & A1 AeHAT & g @ H HEaAl
F dF I 9t T TUdEaR! B geE S 81 a8
HHA TR T B IAEA Fog H Th T FeR-TF
(Pre-harvesting) faf&r 21

96.

An alcoholic solution of which non-metal is
used as an antiseptic for cleaning wounds?

forer e & Ueehrectt T st Su=inT wat ant

WS & forT Uafes & wu § femam mar 372

(a) Chlorine/aA= (b) Sulphur/"Hehl

() Bromine/sTH (d) Todine/3TAEH

NVS Lab Attendant(09.03.2022)

Ans. (d) : 31T T TS (lodine) F Tehigel e
feR oI % Y § S S @1 g SuEn Ui
% &Y # T, % F GEE F oI fFAr S 2
97.

Which of the following constellations looks like
a distorted W or M ?

TIH ¥ HF-|T a9 g, W a1 M 3781 ol
forafira st % T feET FA 87

(a) Cassiopeia/?Tﬁ%T

(b) Orion/3TREm

(¢) Ursa Major/q@fSHea

(d) Leo Majorm TSR
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Ans. (a) : A @7 v 9@ q of S S 8,
TS TH AREUEA § S ST & S gU M A W sRR
S AT S 81 A8 aRHUed Siasig @etd |@e
g S S T 88 ARMUSC & gt B W UH g1 THH
Syt

98.

What determines the sex of a human baby?
e foryy e e e frerifta oar &2
(a) It depends on whether the father has more Y-
containing sperms./dg 9 dd W faefe hear &
o6 T % o9 e Y g6 SR @ A1
(b) It is a matter of chance./Jg8 G 9 2
(c) It depends on the age and health of the
mother.
7 A &1 g N e W R 2
(d) It depends on the hormones produced by the
endocrine system.

T8 SEE 7 F Seqiad g W R 2
Ans. (b) : T R &1 o1 & 30 SR TE [H] F
T i feifa w81 Fee % T e 9 @
TRE R T ¥ UH PEF &k HAeH ¥ Ry W
forefeor fper Smar €1 3w Rafy & far ¥ v g ww
F e Ry deH a9 X ORF W F Al dad
aASH M|
99.

In very cold climate, some people keep burning
coal in an ‘Angithi’ inside the closed room to
keep themselves warm. After sometime, people
inside the room start feeling suffocated. What
may be the cause of this?

g 3 JoEag W, P N Ge il T W@

& faug s =M & oigw ‘sifidt’ W wmrEen

ST @A §| B | AE wW HK AT A

W YT HEGH & Tt &1 FHRT ST HIRUT &

Hehdl &7

(a) Since room is closed, fresh air does not enter
the room and there is lack of oxygen./ﬁﬁi

HH &% B 8, Al ag HW F e T8
H 8 3N TGS & FA & S 2

(b) Burning of coal uses all the oxygen present in
air inside the room and there is lack of

oxygen./HITA & S H FW & R A |
dise gyl SifefioH &1 swEm @ @ 3R
TS & HA &1 S 2

(c) Carbon present in coal burns to produce
carbon dioxide which causes choking/®Iet §
TISE FT TR FE SRS 3T Bl
R T grgreri (=it g 21

(d) Burning of coal uses all the oxygen present in
air inside the room and there is lack of
oxygen./HFdt H HIGE FEA, FF FW A
Fdise # oEtE gl # wor g 3R
Pl AHISGEEE SO B ¢, ey ged
N ArareRte (Sfeh) g 21

Ans. (d) : 30t @A ¥ AN G H T W@ & fau &g
FR F S & Pigen TR W@d 81 3HE HEd &
Safe AT A A A s s S A A
Al @ qdT FeA AIAES 19 30 R 2, el
T T T (AfHT) B T

100. A plastic is used for making floor tiles and a

fabric which is used for making firefighting
suits. What is the name and type of this plastic?

qE TRes, fEeR SUST Wyl @t e iR

ANITHA FE T & TITh HUST I oh T

BT €, SHeRT AT 3R YRR T §2

(a) PVC; thermoplastic/dt.dt.9.; emieenfes

(b) Bakelite; thermosetting/&éﬂl’{d’; dige

(c) Melamine; thermosetting/ﬁ?ﬂﬁﬂ; GIRET)

(d) Teflon; thermosetting/@‘il?'lﬁ; SINEL
Ans. (¢) : AT wife % agcTh (Polymer) 2 s
TH W IRETHE 9 ¥ FSR & W § S9- Hae,
e, WfTe=y T 3| geT ITANT TrHr=: Hef
# 2rel ik e Y S ¥ g el aH &
forw fepam STl 21
101.

During the development of a thunderstorm, the
charges collect near the upper edges

of the clouds and there is accumulation of
charges near the ground

also/afSagizmaTd (thunderstorm) ST &4
T AT Sl o SOt fRArl & U
THd Bd ¢ IR g & frwe  off
AT e g §7

(a) positive; negative/RUTHb; FUTHD

(b) negative; negative/¥-Hh; RUMHD

(c) positive; positive/Eg-THeh; HATHD

(d) negative; positice/FUTHb; TATHD
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Ans. (c) : dfgagizned (thunderstorm) 3T STHEI fersTelt
Th ORI S gEAEE SeAT 21 TE g R
Tee & SO AR & uE dr gy % e e
saw & R @ 21 T fEgg e & B %
TROTHEET S F T S J9 a6 SR e H
TSt § foar @ 2, fored farrelt & a1y @9 areht fafire
TSRS I YA 3~ el 81

102. Fires caused by burning of oil cannot be
extinguished with water. Why is this $02/dcT &

T ¥ Tl I A ¥ A JHET S ARl

1 T =l e 12

(a) Because oil, being insoluble in water and
lighter than water, will float over water and
keep burning/Fifs 7 S § AT iy
S ¥ gehl B 8, R ave ¥ a8 9 &
SR TRAT @ S SIS @

(b) Because ignition temperature of oil is very

low and it will keep burning even when water

is poured over it/ ad 1 Jsged daqe

TgT T ¢ SN THh IR T e | oA

T STerl @

Because oil will dissolve in water and will
keep burning/Fifsh @ I H g ST R
ST WM

Because reaction between oil and water

(c)

(d)
releases so much heat that is sufficient to
provide the ignition temperature of oil/FifH

T 3R St % o9 Al § s S
gl 8 f3 91 &1 Soged d9HE YeM S &
forg gafer 2t @
Ans. (a) : 0@ & STa § 0 A H TA F TE FEA
ST Gehell § FAifeh ot STl W gkl TS [Nl Bil &
et oo ¥ 98 S ¥ N1 @ a9 Jord @ ad 9
@t 3T & FHE & AT foam fire extinguisher a1 CO,
1 ST fohar ST 2|

Comprehension:
Read the given information and answer the

following questions.

A 10-kg box is kept on a floor, with a layer of
cardboard between the box and the floor. Let
us take the origin, O, of x-axis coinciding with
the left lower corner of the box so that the
positive x-axis is in the direction from O to the
right and the negative x-axis is in the direction

from O to the left. A force of magnitude 5 N is
applied on the box in the positive x-direction
and two forces of 15 N and 10 N are applied on
the box in the negative x-direction.

Frer & T et | ufen AR awgna fou
T YA I

10-kg T Ueh SeRT, %Yl T T § T sied
iR Wyt & ofior wIEAS * Tw WA {1 9T R
x- 3187 &1 g foig O, oo o et s &
% TH YRR HUT ¢ fof emTeeR x- o1eT, get faig
O % TE 3 3T HUMHS x- 3787, T foig O
AT T TeFT T &ATHe x- Toom & 5 N ufwmor
T Teh ST SNTTAT 7T § X Sfed UX SRUTIeeh
x- feom @ 15 N 2f% 10 N & &Y &t onmg 7w 31

The net force acting on the box is and
is along the I W wHERG IS
e iR o STIfe9T B M

(a) 30N, positive x-direction/30 N, & x- fm
(b) 30N, negative x-direction/30 N, FUT x- f&wm
(¢) 20 N, negative x-direction/20 N, FUTHF x- faum
(d) 30 N, positive x-direction/20 N, &I x- fG2T
Ans. (c) : iU T ftely % SER o7 99 W

103.

y
—
X O: X
:

feRTER i T W TR 9 HEW 8 5F SN T
+ x- fGem & T 15N w6 10N & 9 — x-fewn & ot @
7 A T Al b1 TSt I

= 5N+ (= 15N) + (- 10N)
5N-25N

= — 20N
319fd 20 N 1 9 afeq | — x fawn & ek S|
104. The box does not move at all under the action

of the three forces described. The force of
friction acting on the box is:/aTea gftfa =t

et oo W foremer oft hrfrer T AT 1
ST UX SIS THUT I fehelT g1TT?
(a) 20 N along the negative x-axis

30 N, TS x- 377 & T
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(b) zero/TA
(c) 30 N along the positive x-axis/30 N, ¥-IcHh
X- 3T & 317\{%?'[
(d) 20 N along the positive x-axis/20 N, &dlHh
X- 37T & 34@&'3‘[
Ans. (d) : STFF W FEG Fai & GRom = 5N + (-
15N) + (- 10N) =—-20N
T F X 3T H FUMHS ™M § 20N & 9 § 7
FOM 3T 396 fam § WA &g + 20N & o (X 3791
T faem # e
105. The layer of cardboard is removed and the box
is kept in the same position. Assume that the

friction between the floor and the box is zero.
On the application of the aforementioned three

forces, the box will:/TSslIe o WA &1 feq
T % U s Y SHt feafa § w@r s #)
T fo wet e sierw & sfter sor g )
SURITH St = Sl s TRt feRy W W
Eica) |

(a) not move at all@?@'_d o wforefiar 78 grm

(b) will move with an acceleration of 2 m/s® in
the negative x- direction/2 m/s* TROT F Ty
TS x- f5om § nfasfier g

(c) will move with an acceleration of (1/2) m/s®
in the negative x-direction/(1/2) m/s* @I ED
Y TS - e # foefier g

(d) will move with an acceleration of (1/2) m/s

Comprehension:

Read the given information and answer the
following questions.

In a hall, two walls, one facing the door and the
other adjacent (and normal) to it, are covered
with plane mirrors. Poonam enters straight
from the door and stands at a distance of 4 m
from the mirror facing her. She observes the
image formed in the mirrors.

Hor & 7 SHEd @ ufgr iR s fu
T YT ok IR AR

T Biet § & dran, fad ¥ T a3
FfimgE ¢ iR gEd wfvee (iR 3@ W
T ) ¥, Tuaet Ul ¥ T ¥ TAE N ST
¥ yavT feram SiX 3o FETE @t TUU F 4 m
=t gt W &

g gdun ® faftfa st wfafssr =t sracier
AT B

Poonam walks towards the mirror at a speed of
1.0 m/s. The image will move with a speed
towards the moon and with a speed

towards the mirror./TH 1.0 m/s Tt oA
¥ Tdur w AR Tt €1 wiafee gEw @
3 LI O T B

i TITeT | THT RO

(a) 1.0 m/s; 1.0 m/s (b) 2.0 m/s; 1.0 m/s
(c) 1.0 m/s; 2.0m/s (d) 2.0 m/s; 2.0 m/s

106.

in the positive x- direction/(1/2) m/s* ] Ed
o T x- faem # ferefier grm
Ans. (b) : HESE g R THUT I B HH LA & T
g
i IR I — 20N (X 3% & RO favm #) g
T T B
o Sl T Fo9HE m = 10 kg
agqr g =20 N
31a: e & faddta fam @

F=ma
?J%TaaTUT%

. F
3 T § 39 @0 a =—

Ans. (b) : Tt a5 o1 = & wHaa 20U & IEE v
A § T W T8 S0 WAl B 2y Il T G A
qC HEYH H |

37a: Wfafo g9 & S 1 x 2 =2 m/s oA ¥ I
ﬁmﬁ@tﬂ[aﬁﬁ'{VZIm/s@Wml

107. Poonam has a laser pointer with her. She
shines the laser beam so that it is incident at an
angle of 20° to the mirror facing her. After
reflection from this mirror, the beam strikes
the other mirror and gets reflected from it. The
angle of reflection from the second mirror

is:/q90 K U Uk oo WigeX gl 9% Ueh
TS G YehTvTe et B, S SHoh W@ HIN[G
TUUT X 20° o SRIT UX AT giam §1 39 Uor
¥ WEdd & dE, G g qUU | et
urEfed ger €1 gER U | URIEe T ehioT
ferera grm?
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(b) 40°
(d) 20°

Z ABO = 180° — (90 + 70)
=20°
Hd: LMBO = 90 - 20 = 70°

. ZMBN = /MBO = 70°
(319 SHITT = A HIUT)
3T TR U F Wad = 70°

108. The image formed by the mirror facing her is:

30k TEE AT qUUT I At wfafeer SRar
grm?
(a) virtual, erect and at a distance of 8 m from

her/3T4TT, ﬁWSﬁ(W@SmHﬁEﬁW

(b) virtual, erect and at a distance of 4 m from
her/aT&dds, der 3K 399 4 m & g W

(c) real, erect and at a distance of 4 m from
her/39TdT, ien 3 IGH 4 m FH {ﬁtﬂ

(d) real, erect and at a distance of 8 m from

her/aTedfas, Her 3 3TF 8 m 1 T W

Ans. (a) : 59 Rl a5 & gHaer U1 % HEA T@I S
g, @ 3w el Bfy Al @1 Bfy @ TR wq &
R F UM & 2, iy 3R sdu & o # g, o
SR Tgor % T F gl TR B 71 A g 4 H
Zf W wel ¢ gEY Iuh R A adn gE MR
wfafer semeft, den qor 3w 8 . g W g

Read the given information and answer the
following questions.

In older times, most of the fabrics used by
people were made from fibres derived from
natural sources like cotton, wool, silk and jute.
These fibres are traditional, ecofriendly and
non-toxic. Nowdays, many fabrics used for
making designer clothes, furnishings, etc., are
made from synthetic fibres . Manufacture of
these fibres uses many chemicals which are
hazardous for human health, and these fibres
also pose a serious threat to our environment.
Yet, these fibres are much in demand due to

some desirable properties like low cost and
easy maintenance.

& T T ufen A7 fre weAt @ SR
EUSIY
WA 9T H, @R g SuET fRT W aer
IfreRiyT FUS HUW, FA, WIT WR e W
WTehfaeh |ET | UTed 3910 (WhIga ) | S S
& T W URURR, TIERUT ok IR AR I
faurs 29 ) TSher, feaER wug, -
U 37 o9 o fow swE fhn W e
w3 wUg fHafew Wi & a9 A € 3w
(g ) & fomtor & g THEET T SN e
g, St aee W & fan e a €, i
W AR yierur o forg oft wisfiv wew der
wa € i off, ®w @ eiR e
TR,/ TEETS S HS TS U o THRU
T Y9 it Sgd Wi et ¥
Why would acrylic be preferred over wool for
making winter clothing?/3ftaehTelia a&t EEIE)
& U o9 #t g ¥ Ukt T yrerfireRar
=t & S aee?
(a) Because it is biodegradable and more
durable./Fif% I8 St fefiemor (srifsagee)
3R 3l s & 2

(b) Because it is available in many colours and is

biodegradable./Fif% 8 F3 T H Y g
2 3 S ffiere (amifedeaa) & &)

(c) Because it is inexpensive and moth
resistant./&if% Tg & N Hie Ffaldr S 21

(d) Because it is biodegradable and does not

catch fire/Fif% a@ SO i
(FrNfEIRT) B 8 SR ST & e 21
Ans. (¢) : YMaFEl a9 F9H & faw FA # qar §
WhHieTh i MaffihdT 31 AT s I8 FEw SN Hie
AR AT & T THRE T A qe § s A
T € Fiife I e s g 81 e ¢ 6 s
T fafes B 2
110. Why are synthetic fibres hazardous for our
environment?/fiafess W (wWEW) FTAR
UITERUT o feTU ot WatTeR Bid &2

(i) Because they are biodegradable

iR & S ForefieoT (arefeieae ) g §

109.
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(ii) Because they produce toxic fumes on

burning/@ifeh ¥ T W fooTh g oA
A E
(iii) Because  they cause choking of
drains/a{eR 3?@-? SR ATt (drain) SITH Kl
STt 21
(iv) Because they are recyclable/&*ﬁﬁ:ﬁ D) q-:
YIS (recyclable) 81 &
(a) Only (i), (ii) and (iii)/®aa (i), (ii) 3R (iii)
(b) Only (i) and (iii)/&ad (i) 3R (iii)
(¢) Only (ii), (iii) and (iv)/&Faa (ii), (iii) 3 (iv)
(d) Only (ii) and (iii)/&ae (ii) 3 (iii)
Ans. (d) : fHafes W (PER) TR w@iwwr F fau
TAEE B 2 i 3 Joa | fawed qi 3w
2 i T IR S ¥ P e ae
1 IYAN R ST R 1 i A Srereiead a2
THOTT, 37 T AT F I B H GA a1 @A B
TH THR B (if) AR (iii) T B
111.

Which of the following is a synthetic, plant-
based fibre?/f=1 ® | i @1 fHdfeew, ueu-

JTEMTRA T (g ) 77

(a) Rayon/%&l'l'rf (b) Terylene/@ﬁ?'ﬁ'rf

(c) Nylon/ArFe= (d) Acrylicfmzﬁ
Ans. (a) : 1 T A qeg 3meRa 90 @ S oAhe!
F TR A B § W Ieqara 9 fffa fhar s 21 3
HHAR T IS G AT A Ueit § S fpAr S 2

Read the given information and answer the
question that follows.

Man’s association with metals dates back to
prehistoric times, when initially man became
familiar with metals occurring free in nature
like gold and copper. Today, 118 elements are
known to exist, of which around 95 are metals.
An element’s use is directly linked to its
qualities. For example, metals, like gold and
silver, are used for making jewellery because of
their shine; metals like iron and alloys like steel
are used as building material and for making
ships and automobiles because of their high
tensile strength. Similarly, non-metals, like
oxygen, is essential to life; sulphur is valued for
its medicinal properties

& ¢ It @ ufgr ik e few gt
T ST Sl

aTgell % WY T e yrifeETie Wi ¥ ¥,
W& YRS H I Y W gk e arelt engeit
IR-TA ST aie § uRfera gem o1, 118 deat
o i A &, | | @ 95 engd ¥
forelt T T ST Yeel ®U W IHSR TUN A
ST g1 T 1 IIEAW & forw W 3 =i
St emgell W SUENT SRt UHeR WU
STE T W o @ ¥ R e gt
3R wier Sl frgr anged 1 SUART 3t 3o
T wrHed o wrur fmtor wrmft & w9 § e
T TS SEmEEd S & T g 2
Tt g, srenqd, S srfeder, sfaw ¥ fg
AV §; Tew ot sftwefier Uit & fag
3TEW 2

Sodium metal is stored in kerosene because it
catches fire when it comes in contact with
water. After the reaction of sodium with water

is over, which of the following will be
observed?

wifgaw eng ot gt & de (FAfT ) § dadia

foran ST &, RAifeR UE ST o WUeh § T W

AN Uhg ol 1 9 o @I WEaw

Ffaferar T 89 & e, e § @ =

grm?

(a) The solution becomes warm, and it turns red
litmus blue.

foreram T @ S @ e et ferew @ e
&l 2

(b) The solution becomes cold, and it turns red
litmus blue./fe@T 31 & @1 8 W o
foremg & fem & 3 2

(c) The solution turns red litmus blue, and its
temperature does not change./fdedd A

femg & Fiem #X a1 @ 3N TS amuEe #
IRade & g |
(d) The solution becomes warm, and it turns blue

litmus red./fe@a T @ @ g e Hd

fAeTg & e & |
Ans. (a) : 9if$am o1g & et & da (Ff) § dofea
fhar Sem 2, i Wifedw S % W # I W
ARAMHAT T STl AT @ A % 9 AR gurE g
F EE fyoEq T @ @ @ adr difsan esgiese
(NaOH) =T & < &g 8 31 ol foremg IR &t
et s a1 8|

112.
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113. The screw driver, used by an electrician, has a
handle made of plastic? What is the reason for
this ?

TASRITET R SUART fRT W Ot Iorend
(BF SR T 2So1 WIReeh ol ST 2ial &7
TR HIUT T 82

(a) Plastic is very strong and does not crack

easily; therefore, a plastic handle provides a

firm grip of the screw driver./<l&® agd

TSI BT @ AN SR ¥ T A/ gl €

Y, wifies &1 §a T9ay (Th SEN) &

T TSR e Fa T 2|

Plastic increases the durability of the screw

driver and gives it a colourful appearance.

wfie®, U9Rd (B TR oo

(durability) &I e 8 3R 3§ GiF &9 J8=

(b)

T 2
(c) Screw driver is made of a metal which
conducts electricity; plastic being a

nonconductor prevents any accident due to
electric shock

Tgehg (Tp SR) O1q § o1 BT §, S e

F GAOH I & ©REH FaeE o %
FOT 7T ek § B arett fhelt off gele &
bl 21

(d)

Plastic does not conduct heat, and therefore, it
is easy to hold the screw driver with a plastic
handle./@REH, FT & TaeM T8 BT &,
R THAT TIhE (B TEN) H wIRed &
g ¥ YT EH Bl 21
Ans.(c):mmmmaﬁmﬁm
(T gTER) 1 Teel @il I A1 &Il 8, i Tuhy
o1 1 o1 B ¢ e e yore g @1 wifies faem
F HAAE B P FRUT g Feh ¥ I A el of
AT I T 1 HE HIAT 8| THAT Fod & g8 FI
AR § ST S 2 |

114.

Copper metal gets corroded on exposure to
moist air and it gets coated with a green
substance. What is the composition of this
green substance?

A A & WUk W W W AT ey Wenie
(corroded) @W%WWQTW%W&%
WA & S §1 39 &Y uere st ST o T et &7
(a) Copper oxide + copper carbonate
FIY FAEE + P
(b) Copper carbonate + copper hydroxide
EIREN + HIW %’TS@TWI‘&?@
(c) Copper hydrogen carbonate +
hydroxide

H FEEISH FEAE + FR FETFAEE
(d) Copper oxide + copper hydroxide/sIo
ATFARE + HW E’IS@TERCITQE

copper

Ans. (b) : T Y F TH H I W alen Og GR-eR
FET TR ARSI TH 9 F T ¥ R ek e
R gl FEA FEMHE H TH & T/ g o 81 T8 7l
A HIT GESFAES AR HHR e 1 Heor gt 21
2 Cu+H,0 + CO;, + O = Cu (OH), + CuCO;
Read the given passage and answer the
following questions.
Achilles’ tendinitis happens due to injury of the
Achilles tendon. This tendon is a band of tissue
that connects calf muscles at the back of the
lower leg to your heel bone. The pain
associated with Achilles’ tendinitis typically
begins as a mild ache in the back of the leg or
above the heel after running or other sports
activity. More severe pain may occur after
prolonged running, stair climbing or sprinting.
Patients may also experience tenderness or
stiffness, especially in the morning, which
usually improves with mild activity.

fow @ e @ ufew iR o wvEl @ SR
R
SAferetist iﬁ'ﬁﬂgﬁ'{? (Achilles’ tendinitis),
AfeReiist hEW (Achilles tendon) &t NE &
HRUT AT ¥ TE HST sk St U et §,
N & e e & i fisel =t e (calf
muscle) Ea) TS &t E@ L) Fﬁ'&!?IT g1 StfeRefist
feamsfed (Achilles’ tendinitis), & Hsiferd Eé
AUTIE: g a1 3 @ TfafaieEt & sg
NFEADA R TN TH FIWeH @ &
w9 F yw A ¥ S T T e, W
e AT AN dre ok Ag Al WX o€ @l
WehdT &1 AR ®T FreeAT (tenderness) =T
STeheA  (stiffness) <hl ot CRLES @ Hehdl %,
Tt gaeg |, Rl wrare: gt hafefir
/A YR & S )
What would you practise to avoid tendinitis?
HSINY (tendinitis) & SO o T 2T WA
| &l &wa?
(a) Pain killers/& f4are
(b) Bed rest/¥r1 {8 (Bed rest),
(c) Good, cushioning shoes/3Te, FIT St
(d) Moderate activity/Teqq  Tfdfafer  (Moderate
activity)

115.

Ans. (a) : eI o1 SHeuvny @& WRER SiRE @
o @ S AiguiE @ gsgl § Sisd @1 59 SiRdl @
Jeq #ed 21 T8 Rufd Sie F I St 3 S FHmer
H BT TG 2| HSUWY ¥ S H fou <& Fansw

2aT3ll 1 YT HLAT TR
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116. How many Achilles’ tendons do you expect to
find in a chimpanzee’s body?/3T0

IET U fwat orferefisr hewelt  (Achilles’

tendons) T 3T HIA &7

(a) Four/@X (b) None/Ts f &

(©) Two/a (d) one/Ts
Ans. (c) : 3BT HEU (Achilles tenlon) Fdh I G2t
FH R, SR F P B & 09 fieeh & IRE (Calf
muscle) B TS # g F e 81 TF FAST F IR
# 2 sfelisT e et St 21
117. What do you think is the function of the

Achilles’ tendon?/ AR s

T T T BT 82

(a) To ensure proper circulation/3f¥d 9REH=ROT
g e

(b) To prevent overuse-injury/3TaSuamT-aifd &
EEIGI

(¢) To nourish the muscles/ArAURTET st TEUT &A1
(d) To assist in locomotion/§a@ (locomotion) #
eIl h{ATl
Ans. (d) : 3HAST HST H FE ToH, dted AR Fad
jjémaﬁﬁﬁﬁésﬁﬁﬁﬂfﬁaﬁtmaﬁwﬁ
|

Read the given passage and answer the
following questions.

Nicotine is the chemical in tobacco that keeps
you smoking. Nicotine reaches the brain within
seconds of taking a puff. In the brain, nicotine
increases the release of brain chemicals called
neurotransmitters, which help regulate mood
and behaviour.

Dopamine, one of these neurotransmitters, is
released in the reward centre of the brain and
causes feelings of pleasure and improved mood.
Nicotine quickly becomes part of your daily
routine and intertwined with your habits and
feelings.

few @ e @ ufew iR o wvEl @ SR
s

qeTeR W UTIT ST STt fehtfed Ueh T W@rE=
¥, I STUhT LHUTT et o1d T 2T §1 HIT
* FO @ AHRUT F i fraifen uliass &
g WiaT ¥ Ak #, feife =Reiadter
ATeR AfksR W@IEHT @t gite § gfg & €,
S HIEYT (7)) R =eEr it i W o
WEE A ¥l 3 FuEwHied § | T, S
Tfiaes & Rate &g ° gk ean ¢ i fraes
T TS Tt WTEATG Seu=T gleft & 3 w=egem
(mood)@%ﬂ?@ﬁﬁ%lﬁ%ﬁﬁ?mﬁm
fererat =1 T o= SraT € Sfi emuent et
3R TEATSt o WY S W R

118. What is the message of this paragraph to young
students?

T ITede o faentiat o forg wrem gt T §2
(a) Nicotine can be used as a pain—killerﬁﬁﬁ?
I YA &€ A % &9 F fBar o1 gebar 2|
(b) Smoking is harmful to your health./gHqd
Ik TR % U i 3 2 |
(¢) Be aware of the chemicals you consume. /379
ERI 3YAMT fFT S AT TRAT § WEEE R
(d) Smoking can improve your mood./gHI
U FAIZI (mood) H N X Tehell B |
Ans. (c) : 3T4F =R # Fa famnfde & faw e
E 30N R T TEEE ¥ weEE W w6
T 8 s soh (Feifed) wam § Afass § fasife
=gigdiey Ame TgEEl B 9| § ogfg @ @ S
T 3R R F AT e § Heg w2
119. What role does nicotine play in changing the
habits of a smoker?/UU H AT HATH &
3Nl wht sIger | FreRife sl o uftrent 2 €2
(a) It damages the brain./J8 Wfsh RERIE]

T 2

(b) It is converted to a neurotransmitter./dg
=Rgrariet # qRafdd g 2|

(¢) It binds to dopamine./Tg MR ¥ e
T B

(d) it causes addiction./& & (addiction) T hIUT
T 21

Ans. (d) : ¥HIF HH a6 AR H G H dEeH §
PR mewagul gfve fram & =it o g oiw &
T8 fam=at &1 feear o9 e € dor Sfedi @ e %
Y g e @1 Ry A 59 3 | S 2
120. How does nicotine reach the brain?
Torenifet witereen ek & Ug=raT 82
(a) Due to metabolism of cigarette smoke in the
respiratory system/Th &I | STERITOT ZRT
(b) By absorption into the blood stream/4& &
§ e & g & JAed & FROT
(c) By dissolving in the saliva in the mouth/ﬂ_ix' |
AR & T JAR

(d) Through nerves connected to the pleasure

centre of the brain/ARAss & 3HS Fg
(pleasure centre) ¥ S[E T4 & HeAd |

Ans. (a) : FRIfET AMa wfash d% & aR© & Sragi
3N wgE @ Wl A (Feife) 10 ¥ % s @
s § faeifen =ieiodier ame WA & gfe
3fg e 21
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1. Trafafga orsal o @ 'ac@q’ 91sg Rl UgeIig) Ans. (c) : HIg 1 Higd Y& ¥ 0 °f &1 Rk AR
(a) 2@ (b) 3% foran |’ s ekt & ST AR B |
(c) T (d) T 9 IrcidR S Full # YR B 8 qU Se9 =IHehR
Ans. (b) : I B 2, ST TR FEeld ¢ I
acaH REAE 7. ‘TeETtSeR’ AT HitT forese B ¢
afy CEl (a) T + s (b) T + 1R
3 £ (c) TT + 374 (d) TT + A
afy ad Ans. (d) : ‘TSNS 7 T8 e Tsa + 1w’ g
R T g G dfer &1 e 21
2. Trefeiead vreel € | 'AeWe’ IS R TERI |8, WETHRA @t ¢St § ST TSl o {ueels
(a) Sl (b) e 'y UfeR § YifeRa veg ST HETH BT :
() (d) = (a) sFrfiE TG (b) 3 S
Ans. (b) : & T3 fabed § wie’ v qewd @ e (c) TEIET THE (d) FHURE U

T =% g1 81 g, oTcae qu S T8 v £
3. W W wmua g g Wgifed s &1
TigETe vsg SIATSUl

Ans. (¢) : TRTIRG & @S # AFWT TS & WETR
41 wEaq dfed § W@ifehd e 1 TegEN HH BT
F I v S ST g A S @ 8, acgey

(a) T (b) T HTE FE 81

(c) fermfsram (d) =t 9. 'S WEA WHT &' o foTg Uk vreg @
Ans. (b) : TR & waeT gt &1 &I ™ fawed d (a) &7 (b) 319
TE’ I ‘FEA H gAEETE 2 | (c) 3TeqR (d) R

He, dehe, TUEE e

Ans. (a) : ST 9gd A1 & % AU T = SgF @hm
31 foheq 3T £

4. hIT O I ‘TR’ T UHiTETet T &2
(a) gHTHT (b) H&A
OREEIE! (d) marg

Ans. (a) : f& T fopedi § ‘Garet W R 1 T afew

10.

‘F iR W AT gEA @ T 9T’ uega ufed
3G 3T E

(a) & (b) i o &

(c) T (d) 1 T o

HEAT H GEEEET 81 3 fashedt § ¥ 19 v ged,
fohe a9 3TaE S & SEEErE 7 |

Ans. (d) : § 3 T8 o A 1 T A1) EqE e §
T o7 TS S @ I: Y[E A g9 YHR A~
F o 7 5 ™ gy

5. ‘gafea’ vrsg ot forelrd sl
(a) ST: el (b) gi=
(c) o™ (d) e

Ans. (d) : f7 T fawed ¥ gl s gElRd &
3faa foam g o7: faehed (d) Wet 3T 8

6. 'HIEA 7 Higeh GERH W IO W & A Wig
e wega ufer ® -1 TR &2

(a) 3T (b) v

(c) TPH (d) sw

11.

Fill in the blanks in the sentence below with
suitable articles. Choose your answer from the
given options.

few miles south of the U.S.-Canadian
border, Brule River flows through
Minnesota’s Judge C.R. Magney State Park,
where it drops 800 feet in 8-mile
span, creating several waterfalls.
(a) A, a, an (b) A, the, an
(c) The, a, an (d) A, the, a
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